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Pre-Degree Examination,
English (Core)
Time : 3 Hours Full Marks : 80

Questions are of value as indicated in the margin

1. Answer any two of the following questions: 8x2=16
(a) “Then felt I like some watcher of the skies
When a new planet swims into his ken;’
(i) Where do the lines occur? Name the poet. 1+1
(i) Give the meaning of the word ‘ken’. 1
(iii) How does the speaker express his feelings after reading Chapman’s Homer? 5

(b) ‘War’s annals will fade into night
Ere their story die.’

(1) Where are the lines taken from? Who is the poet? 1+1
(11) What is meant by ‘War’s annals’? 2
(iii) What does the poet want to suggest through the above lines? 4

(c) ‘I remember the night my mother
was stung by a scorpion.’

(i) Where do the lines occur? Who is the poet? 1+1

(i1) Describe how the speaker’s mother was stung by the scorpion. 2

(iii) What kind of a person was the speaker’s father? 1

(iv) What did he do to relieve the pain of the mother? 3

2. Answer any two of the following questions : 10x2=20

(a) ‘They started with breaking a cup.’

(i) Where does the line occur? Who is the author? 1+1

(i) Who are referred to as ‘they’? 1

(iii) How did they pack afterwards? Describe. T

(b) ‘Why, it is easy to be ajungli ...’
(i) Where does the line occur? Who is the author? 1+1

(i) Who said this? 1
(iii) Why was he chosen to work in the jungle? 2
(iv) Describe how the speaker lived in the jungle. 5
(c) ‘Millionaire models . .. are rare enough;
but, by Jove, model millionaires are rarer still!’
(i) Where are the lines taken from? Who is the speaker? 1+1
(i) Who is referred to here as a ‘model’ millionaire? 1
(iii) Write how the person becomes a ‘model’ millionaire. 7

P.T.O.
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3. Answer any one of the following questions: 12x1=12
(a) Give a character-sketch of Amal in *The Post Office’. 12
(b) Describe Amal’s interaction with the Dairyman. 12
(c) What role does Gaffer play in ‘The Post Office’? 12

12

4. Read the following passage and answer the questions that follow :
A team of horticulturists and a group of residents have successfully transplanted a 200 plus

year-old banyan trec uprooted by cyclone Vardah on December 12 at Ayanambakkam near
Ambattur. The process began on Saturday and ended on Monday night.

Horticulturist and landscape expert B. Ilango, who was part of the operation, told The
Times of India that residents of the area had approached him to take up the transplantation
work. He visited the spot last week and agreed to help in the work.

On Saturday, the residents used a bulldozer to push the tree, and this damaged a few
portions. On the second day, branches were pruned, fungicide applied on the branches and
rooting enzymes applied on the roots. On the third day, the tree was transplanted in a 6 foot-
deep pit.

A 40-tonne crane was used to lift the tree. Will the tree survive the transplant operation?
Ilango said his team had successfully transplanted banyan trees in a few places and they
survived.

“Water has to be sprayed on the branches for the next 45 days. After that, the roots need
to be watered. Once that is done, the tree will get back its life”, he said.

(a) Write whether the following statements are ‘True’ or ‘False’ : 1x4=4
(i) Transplantation of the banyan tree took seven days.
(ii) A crane was used to lift the tree.
(iii) The transplantation process began on Monday.
(iv) The transplantation of the banyan tree was successful.
(b) Complete the following sentences with the information from the passage :

1x4=4
(i) The banyan tree was uprooted by cyclone on
(ii) Water has to be sprayed on the branches for
(1i1) B. Ilango was a .
(iv) To push the tree the residents used
(c) Find out words from the passage meaning the following : 1x4=4

(1) anexpert in garden cultivation and management

(i1) continue to live or exist

(iii) a large hole in the ground

(iv) the act of moving something from one place to another
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. Answer any one of the following :

8x1=8
(a) You are XYZ. Write a letter to the Editor of an English daily expressing your

concern about the burden of the heavy bags that young children carry to school.

(®)

You are XYZ. Write a letter to the Principal of your institution seeking permission
to attend a three-day workshop on Yoga.

Frame Wh- questions with words given in brackets (any four) :
(a) They are fighting for their freedom. (Why)
(b) Tina saw a monkey in her school. (What)
(c) The war will be over very soon. (When)
(d) The meeting lasted an hour or so. (How)
(¢) The enemies have been hiding behind the hill. (Where)
(f) One of the programmes will work best. (Which)

1x4=4

. Fill in the blanks with appropriate prepositions (any four) :
(a) Tarun is not afraid ghosts.

(b) He has been sitting there three hours.

(¢) The gift shop is the bank and the restaurant.
(d) We spent the whole holiday the beach.
(e) Iread about the music festival a magazine.

(f) Some of Tagore’s poems have been translated

1x4=4

William Radice.

. Write opposite words of the following and make sentences with them (any two)

2Xx2=
(1) honest
(i) create
(i11) succeed
(1v) arrive




I

ﬂ;died by Siksha-Satra

Pre-Degree ExaminutionEJ
Tabla (Elective)
Time : 2 Hours Full Marks : 32

Questions are of value as indicated in the margin
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Pre-Degree Examination, 20

Manipuri Dance (Elective)
Time : 2 Hours Full Marks : 32

Questions are of value as indicated in the margin

S He o SR

>1 WY Ter wre Sxu=Y
(i) &= I 499 ¢ 5 7
(i) ofeTa 7 g
(iii) WA= a9 T3 g7
(iv) = &2
(v) e ooy I7ze uft seam TEe THREd wie |
(vi) e 2
@ A foRfs eram Te wis - brx0=38
(i) efteeTe 791 q=E TfA+4[ ToR dor T [eifte w4
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(iii) A7 FeoR FT@ I I 3 T
(iv) A= o WRse @ @Al 3G 4FF QIR FLCHCH SAENSA 9 |

o1 fAsffRe refm o @R (@ @F o) 2

(i) Rk-EH
(i) e
(i) T

(iv) &R

(v) CEE-plae
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Pre-Degree Examination,g
History (Elective)
Time : 3 Hours Full Marks : 80

Questions are of value as indicated in the margin
Group—A (3-Ret)
1. Answer any ten of the following questions in complete sentence : 1x10=10
fiafERe emelm g @ @ i aedm 7y e Ter e
(a) Mention the name of any one personality involved with the discovery of Harappan
Civilization.
TS POl ARHER Nk TS GG IS AW S 79 1
(b) What is the meaning of the word ‘Tirthankara’?
SfFT W 9 J?
(c) Who called himself ‘Priyadarshi’ in his inscription?
& fee femeeaes e et qe S saeA?
(d) Where was the “Sanchi Stupa’ built?
Fifo B’ @Aw e zfzer?
(e) Who introduced the ‘Saka’ Era?
HPR (4TSN PLA?
(f) Which European traveler has given a description of ‘Sati’ system in his writing?
@1 FTEAT 46 OiF @FRITS oMz’ & Ifr Freaeza?
(g) What is ‘Gopuram’?
‘CNEFT N2
(h) Name one book written by Krishnadeva Ray.
PR TN A0© I FTFT W =T |
(i) Who were the ‘Amar Nayakas’?
IS IIEQI?
(j) Who is the author of ‘Ain-i-Akbari’?
HIZF-Z-AFIE AT IR (F?
(k) What is meant by ‘Ryot’?
S’ FATS F (A2
() Who was Wajid Ali Shah?
exfem @i 1R @ f=eEr?
(m) Mention the name of any one hill station developed during the colonial rule.
AT TR TG 831 (A (I (o Lot *TIA A (T
(n) Whose autobiography is ‘Amar Katha’?

N FA IR AGGREA?
P.T.O.
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(o) Who coined the name ‘Pakistan’?

2. Answer any ten of the following questions:

oI AR TSP (F?
Group — B (3-®r)
2x10=20

R oeiT T (T @ @ wibd TeF we:

(a)

(b)

(©)

(d)

(e)

®

(2

(h)

(¥

@)

(k)

D

Mention the name of any two sites of Harappan Civilization.
238 oI (@ (PIA! 76 FIAF N =T

What is ‘ Ashtangik Marg’?

i f 2

Who were known as ‘Dharma Mahamatra’?

off TR A RN AR fZrE?

Mention any two features of ‘Gandhara Art’.

SirEF Rig-99 @ i vft ey S I

What do you understand by ‘Agrahara System’?

GeIT JIF FEACO I (A

Name two women poet-saints of Bhakti Tradition in South India.
W SITed SfG ATEE TOE A4l Oe-BRF AN @

What do you understand by ‘Khudkasta’ and ‘Pahikasta’?
YAPIE" @ *ANRITE IS T (N2

When and among whom was the first battle of Panipath faught?
@, ITE V4 AT 2 o JARE?

What is ‘SULH-I-KUL’?

TRR-PT F?

What do you understand by ‘Jama’ and ‘Hasil’?

T 8 T TS (@R

Who devised the ‘Subsidiary Alliance Policy’ and when?

@, T4 ATOITAT AN’ ATST FLA?

Name two journals, associated with Gandhi and the Nationalist Movement.

AR 8 TR SRR 70 TifFe 7fo “Afasa 9 @)

(m) What is the full form of LN.A.? Who led the ‘Jhansi Rani Brigade’?

(n)

w12.99.9.-7 et T’ 2 R 1R Fee-a @ @ge om?
Why is the year 1942 important in the history of India?
waTed 3fORGT 3583 BT @7 wwyd?
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(o) Mention two major features of Indian Constitution.

SESHERSSICER RN ERC B R -

Group-C (% =)

3. Answer any four questions taking atleast one from each part, the remaining from a2y4p;r(t):
X —
RS eefm T o7l ae e wwe: @@ w@ a2 TR0 @ @ we @ e @b
A0 AT Te whe:

Part-i (233 9(2=)
(a) Write a note on Harappan trade.
2R3 FETOIR JTI-MfNey FTo9ieE @1

(b) Analyse the importance of inscriptions as a source of Anicent Indian history.
2B SrTed ST BAMITRC Ty werg ResEe 91

() What is the role of ‘Mahabharata’ for reconstructing social history of the time.
SN AT IR A W07 i

Part-ii (RSR wies)
(a) Write a short note on Colin Machenzie and his discovery of Hampi town.

T TiTHle 8 ™ wfRwR o5 @=

(b) What did Ibn battuta write about the condition of contemporary India in his account
‘Rihla’?

[T of Raadlt frzeres i SRy it 9 Froaw

(c) Who were jagirdars? Mention two differences between the Jagirdars and the
Zamindars in Mughal India.

SRPRTE P I Lt TR ¢ wRwEE 5% 1w S v,
Part-iii (YO @os)
(@) Write a short note on the ‘Permanent Settlement’ of 1793.
3950 AT I WIS’ TN F @3fs Bt =1
(b) What led to the Great Revolt of 18579
Srq-93 TRWEE @ TREE?
(¢) Write a note on the concept of ‘White Town’ and ‘Black Town’.

RRRG BIST 8 ‘g BIST-47 € T 2B Dl =4

Group - D (3-fKe)
4. Answer any three of the followin

A o

g questions taking at least one from each part:

QA 93 T o @b foal og Soa we; 10x3=30




(a)

(b)

(©)

(b)

(c)

(a)

(b)

(©)
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Part-i (27 TH)
Discuss the main features of Harappan Civilization.
381 SO AN LA AEsA 9
Discuss briefly the life and teachings of Goutam Buddha.
(TN Cad SR 8 Rl 791 Lol A 391
Discuss the main features of Mauryan administration.
G PFIIZE I (ARl AT $90
Part-ii (AS17 =12=)
Give an account of contemporary Indian society on the basis of Bernier’s

description.

e Rt (AT TN SIS TS T I AT AH?
Discuss the role of Zamindars in Mughal India.
IR oo SRR ST S 4
Discuss the influence of Bhakti movement in Medieval India.
TR SIS S GAIM AO A T4 1
Part-iii (Y91 @)
Analyse the causes of the Santhal Rebellion of 1855.
Shree AR Arger Rumitzs TEd [RusEs 341
Write a critique on the ‘Non-Co-operation” movement.
SR AT T G660 RTage- e &=F @1
Discuss Gurudev Rabindranath Tagore’s views on ‘Nationalism’.

FIORORIT T S IAEAR IIPRA yfgea Af6a are
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Pre-Degree Examination, 2025
Philosophy (Elective)
Time : 3 Hours Full Marks : 80

Questions are of value as indicated in the margin

Group - ‘A’ ((RS1% - ") Marks: 40
1. Answer the following questions : Sd eeRE a7 We - 1x10=10
(a) What is a Negative proposition?
FRLT I67 IS A2
(b) When is an argument form valid or invalid?
GIfB Ie7 WP T 879 A WY T2
(c) What is the contradictory of the proposition “All judges are lawyers”?
T Ko W WRTSA- 97 g o 2
(d) When can it be said that two propositions are contraries?
T4 4fo I el Rcafein /e sags 9o T
(e) What is simple conversion?
A RS I 0?2
(f) Give examples of an immediate and mediate inference.
GIfB AN GI2 NG TN Tz 718 |
(g) What is meant by distribution of a term?
AT TSI I I @RIT?
(h) What is the distinction between cause and condition?
JED @I IR TG AL I
(i) What do you understand by sufficient condition?
i@ =S IETCe I QNI
(J) What is the principle of Uniformity of Nature?
gPfed qaHoel qife T IeT? .
2. Answer any four of the following questions. e @ @I v AT Tag we T 2.5%x4=10

(a) Can a standard form of categorical syllogism be valid if in both of its premises, all the terms
are distributed?

@I av STEE s T 9t @R 1 W smelE e A, o 6o
(34 2O AlA?

(b) What are the differences between grammatical sentence and logical proposition?

JPIFADPTTS AR A IeRorae Iwma Adwpely Fie
(c) If “some poets are philosophers” is true, what may be inferred about the truth or falsity of the
following proposition : “All poets are philosophers.”

Y @I @I IR 2@ R - ey 7w, o e IvAte el 9t g oo
G I A ;T IR 7w

P.1.0.
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(d) Explain with the help of a suitable example of the rule of categorical syllogism, the violation
of which leads to the fallacy of illicit major.

fRaeers s a1 faaefB seaw e @itay g ors =W @"f’i@_@”'@ Pl ’“?' Mt
(¢) What are the two main criticisms against Mill’s methods of experimental enquiry?

fma s frwgers srafon Rera aqm g6 @+ifs 9
3. Answer any two of the following questions : A (@ (AT o AT TH WIS : 10x2=20

(a) What is conversion? What are the rules of conversion? Give the conversion and obsersion of
the following statements :

(i) Selfish people are never happy.

(i) A good player seldom losses the game. / 2+4+4=10
AR PP A2 WS el A2 FaEie aereln aeeT ¢ RaeT $@1)
(i) Td¥9 = e A 77 1

(i) ©IC! CATETASAT IWIMBR ey 3 o

(b) What is meant by figure and mood of a syllogism? Show the position of the middle term in
four figures.
TR ST 2 8 I Iere B @rRm? 51l Fepie @ZAME TIZH (1S |

(c) Name the fallacies committed and the rules violated b
explanation.

5+5=10
i) AAA-2
it EAE - 3
%mﬁaﬁamﬁwaﬁwwﬁm (1Y AT TN T I 8 Y @
i) AAA-2
ii EAE - 3
(d)If a particular part of the brain is removed, a

y the following syllogistic form with

particular part of the body is paralysed- Identify
and give the symbolic form of the method applied in the above inference. Mention the canon

of the method and write merits and demerits of the method. 2+2+343=10
I fEEa 5 e wet aepifre 31 2 oz e ! AL PSR 20 0T | -
@m@mmmmﬁwmmﬁ%@mmammmﬂwww
N1 Tafelba @t Swe s TR A4 8 wfar e
Group ‘B> ([®1 - ¥") Marks : 40

4. Answer the following questions : Nvg Anefeg Taq nie : 1x10=10
(a) What is a truth functional connective?

HOHT FGS IS 0572
(b) What is meant by Destructive Hypothetical Syllogism?
RETLTE ABES T I 007
(¢) What is meant by logical equivalence?
Qe e e § @RIGH 2
(d) What is the contrad ictory form of P.Q?
P.Q -97 w5 arerg 9 237
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(¢) When is a conjunctive proposition true?
93 AT I57 I 7 77
() What is meant by “fallacy of denying the antecedent’?
{1 SRR ST @Y 3ETe 9 @R
(g) Give an example of a valid disjuntive syllogism.
G (94 WIS TR Twrzad wie
(h) When is ‘P v~Q’ false?
‘P v~Q’ 39 fu 77
(i) If °p’ is true, what is the truth value of ‘pv~p’?
‘p’ A T T ORXEA p v ~ p’- @7 ST N TR?
() Symolize the following:
P is the necessary and sufficient condition of Q.

P, Q -93 “Hig- i s

. Answer any four questions : (T (IICA! BIAMG 2ATAT TGF @G :

(a) What are the rules of Hypothetical Categorical Syllogism?
ArefE faesrs T Famef

(b) What is the distinction between variable and constant?

AZF 8 FIEF N ALy [?

(c) What is a negative proposition? How is a negative proposition symbolized? Show this with

the help of a truth table.
fags I07 I IET? LT DA FOR ASIFIT® a0 T? TORIAE R (TS |

(d) If P v Q =F, then determine the truth value of the Statement: (P © Q). (Q o P)

I PvQ=F R, S& (P> Q). (Q>P) -9 oyyey fdiaet weam
(e) If A and B are true and X and Y are false then what be the truth value of X > (Bv ~ B)?
A A 8 B o) 7, qR X 8 Y [ 7, O X 5 (Bv ~B) 93 Ty F 72

Answer any two of the following questions : (3 (It o ATHT TG WS - 10%2=20

(a) i) Determine the truth values of conjunction, Negation, Disjunction and Hypothetical
5

2.5%4=10

propositions by using truth table.
TEPIRAR FIRIC AL, P, [WeE 8 ARG I Topey Fdad @
ii) Define tautology and self-contractictory.
S ; WY YRR TS : [NIF Fee me

(b) Determine whether the following statement forms are tautology, self-contradictiory or
contingent by means of truth table. 5+5=10

ASPTRAE AT Aba DA e Toe37e), F3 fiay At wioifes e o fiefy et

() [p2(@nl=[(poq)>r]
(i) [(p2q).roq))> [(pvr) Dq]
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(c) Use truth tables to determine the validity or invalidity of the following arguments. 5+5=10
oI TR e Ifeela e ar wiager Fdh w91
(i) EoF
FoOE/ . EVF

(ii)  If Japan continues to increase the export of oil, then either Korea or China will suffer
economic decline. Korea will not suffer economic decline. Therefore, if Japan continues
to increase the export of oil, then China will suffer economic decline.

W SR TS (o7 7 I 0, OReE 2@ (@ifa W Sevw e Rfew ey 2|
i wdifer wTFy 7@ A eAR, I @HAN wame (oot 78 I B, iR
BIGERCREICERCEL S ETe

(d) If A, B are true and X, Y are false, but the truth values of P and Q are not known,
determine the truth values of the following statements. 5+5=10

I A, B ¥ = @R X, Y 1 29, 58 1% P,Q -9 TRy At 1 AN, o e
Ioefera SomE AT v

() [(X>2Q)>Q]>Q
(i) ~(P.X) >~ (P >~ X)
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Pre-Degree Examination, 2025
Political Science (Elective)
Time : 3 Hours Full Marks : 80

Questions are of value as indicated in the margin

Group - A (Rei? - )

1. Choose the correct answer from the alternatives.

fRegef i Afde Teal® Fdva w3

(a) An alien does not enjoy (Social/Economic/Political) rights.
aFeH e (i fadtafes armafes) afvem cormt e 9

(b) The veto power is enjoyed only by (The General Assembly/The Internationl Court of Justice/
The Permanent members of the Security Council).
CSTB! ! (O IR FIEG (A T Al / Ao [orem / e sfawma
ZA ) |

(¢) Universal Suffrage is a basic feature of (Liberalism/Marxism /Fascism).

LG SHIPIR (ARSI /TIEHA /M) @7 Qe a3y
(d) The (Liberalists/Marxists/Fascists) are in favour of abolishing Private property.
IfENe G [TEAs it (Swamiar/MFTRAAIE/ AR |
(e) The maximum number of the members of Gram Panchayat is (15/20/30).
ST AALITACS AL 95 7R (15/20/30) |
(f) The Indian Party System received constitutional recognition in (1980/1985/1990).
ST Wil AR FFhe 2 (1980/1985/1990)|
(g) The main objective of foreign Policy is (to exert power/to protect national interest/to interfere
in internal affairs of others).

Rort Jifeq ¢ ol 271 (FTel eda/arer FLEF/aW MET SeRd [Ew wwewa
A

(h) The members of Rajya Sabha are elected or nominated for (4/5/6) years.
AEPTOIR FH (4/5/6) I=2CAR &y fdifb® A TS =71

(i) India has (Single Party/Bi-party/Multi-Party) system.

SIS (GFTA/fave /g wER) KT AR |
(j) The age of retirement of the judges of the Supreme Court is (60/62/65) years.

AW @HF [RER=foma SPEa I 24 (60/62/65) IRA |
Group-B ([eni - <)

2. Answer the following questions in a single word (any ten) 1X10=10

qFHAY A eAxelerd Tex wie | (@ @I wifB)

(a) What is the main purpose of the UNO?
Afafere wfesem 35 Sy F?

(b) Is there any trust territory at present?

IS Az GAFR ARG A0z 62

(c) What is the name of the lower chamber of the British Parliament?

3o sefieacse fAesrsa A @

1x10=10

P.T.O.
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(d) Who appoints the judges of the subordinate or lower courts’
@« 91 fag amirEced oRefema @ e FE?

(e) How many members of the Lok Sabha can be nominated by the President?
MBS TEGH TNE RO TCArS FACS AI?
(f) Who is the chief advisor to the President?

2o Ay rrTrst &?

() Mention a source of income of the Municipality in West Bengal.
*AFoRac (feeTor wEs g3t TeF BEY T

(h) What do you mean by ‘Semi-citizen’?
T e’ FerS R @A

(i) Who is the chief administrative officer of the block?
I Y I afeia @2

() Name any one Non-aligned state.
@ A 96 (o5 s g am @2

(k) Is Indian executive a type of single executive or plural executive?
SIS AP @5 AfApETs w1 18 SAfsEe?

(1) In passing of which bill does Rajya Sabha have practically no power?
M & AR e Srfe; AT (P FAT (7272

Group—C (RS1 - o)
. Briefly answer any ten of the following questions.

frafife @ @i i aei w<e Ter s

(a) Mention any two features of liberalism.
SRR @ @ 9f5 L% S o9

(b) Write any two sources of Marxism.
TEFATE 9fS BA (@13 1

(c) What do you mean by foreign policy?
e s F=Te F @MRI?

(d) Mention any two basic features of Political Party System in India.

SIATST FAATST WEl AIF @ @I G5 I+ LT Sy 9

(e) How many organs are there in the UNO? What are they?
Afafere wifesem Faft a% /e e g3z | |

(f) Name any two social rights.
@ @ g6 Arfee afaiad am @12

(g) Write down any two functions of Vice-President of India.
SSd SHAAE ST @ (@I 5 IS @

(h) What is Gram Sabha?
ATl B

(i) What are the full forms of IMF, ILO.
IMF @32 ILO -9 =1 3sf 57

() Mention any two principles of ‘Panchasheel’.
@ A 95 stgefa Ffea T 1)

(k) What do you mean by the principle of ‘Jus Sanguinis?
T WS S T S < ice W D @z

Uploaded by Siksha-Satra

2X10=!
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() What is “Delegated Legislation’?

wf*fe welerTs wizq F

Group-D ("M - v)

4. Answer any five questions. 8x5=40

AT 166 efveg Tag wia
(a) What do you mean by rights? Briefly discuss the political & economic rights of a citizen in a
Modern State. 2+3+3=8

AR T T @A Wi W ke AT ¢ adEfee wiEeR SR

QICADA T
(b) What is Fascism? Who is called the father of Fascism? Briefly discuss the salient features of
Fascism. 2+1+5=8

PRI F12 TN GG S T 207 WINICT T AR FLTHCA AT 1
(c) Which is the main organ of UNO? Discuss briefly the composition & functions of the
General Assembly of the UNO. 1+2+5=8
TS wfSsem aam @ celse swet e wifvstem T4 o A9 @ A

QICTo 91
(d) How is the Governor of any Indian state appointed? Discuss briefly the executive &
legislative powers of the Governor of a state in India. 2+3+3=8

HPREE 8 ARTIEHS FAOGfT HLHo D 9 1
(e) Which is the highest court of Indian judiciary system? Briefly discuss the composition &
functions of a High Court in India. 1+2+5=8

SISl RERAZ TS amere (@HB? SHred @I a3 AIET 99 8 Fidaat
AT ATCEDAN FH
(f) What do you mean by local self-government? Briefly discuss the composition & functions of

a particular tier of Panchayat System in West Bengal. 24+2+4=8
A FHGIFT e I Q@2 HAFFTRCT TS I @ @I 9B WE@T 09 8

IR FLTFCA ACEOA 9 1
(g) What do you understand by the principle of separation of power? How many parts are there
in the executive branch of government and what are they? State any five functions of the

executive in a modern state. 2+1+5=8

Tl FOFEId e TS F @R AARCCR TG @ g | Iy wyfic @
APHRSR @ @1 b0 IR SQeEna 391
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> 1 Bar fRioe w7 (@ @1 «ATs): Sx@=C

() E0 @ @A -
(a) IFCS (b) FAME (c) MW (d) I&
() WEAPOTS O T Z4-
(@ 95% (b) 100% (c) 110% (d) 115%
(o)) feBifim C s @™ a=-
(@) SMAEA (b) IO AT (¢) TS (d) VAR
(}) ST (@ ZAT TLAMHT T AFTS ATAGAI?
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() it TeEeR I -
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(5) T SRS 2hfer Afefie FERE AwE-

(@) 550 FENE (b) 300 FNENE (c) 250 FNCENE (d) 450 JCAME
(=) TS wpfrces 61 wigd rafsft =i 23-

(a) WIREBRFAGIA (b) TGS (c) IFeo (d) &
31 AT WA JR ST 7Y I9 : (@ @A #AB): Sx@=¢
(F) (ITOTS TACHD [IFAZADT N 2 |
(/) T (A @i teaE crmfeft =e |
(o) ZfET A oMY R AW @ St @A @i = .

() ArFIIR “@fore K17 AT 5
(8) SIRAF RABIRGA-G WS T

(5) GTER (et I Ty AW AFT Tow l
(R) ICMR @ A IAZF |

o 1 7 IRFPTR o) /ErTe T T (A 1 #A) Sx@=¢
(F) BRI “i2) ST T (I @M |
() IR 9% [RETERDE S |
(%) Nyctalopia &1 ST (19
() AW JrFR @qm 267 Tfow 11 fom)

(e) C=ITR 2AfEgen Jfa A SFEwEI |
(6) ARTIFRIH Teo ATP 7 F2 =& 5 B

(R) =S @ I AT oA
P.T.O.
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8 | RIS eyl <o AT Boa whe (@ @I Ab) : oXGstt
(@) (N5 AT TP A TEBIOF AN B2
() fzfyam e
(?) CFTRI @3 = FfG e
(7) ey fafae ¢ Fwa et 232
() JRINSTHARH Iece F @RI?
(6) “IFgfeire Reimd 6 @¥= %o @rd A e
(?) wifae IC Q2T 9 2
et - 2
¢ fasfifRe emefem et Seg wie (@ @ wifb) 3x30=30
(F) (T Sra*y Pt ECAT
() Srafem FI5 creaa & “ifFeie Fare A T @2
(o) GEF It BMR-AF T4F 17
(}) Fangd I I 2
(8) ey fofrta Somy 912
(5) Wl AW FICF ICA? TIZE WIS |
(®) e Soamme Jt 7
(@) wEfFFe @It Ie0e IIT @RIE?
(F) TYRLHT AL I 8 AT (AT T 12
(@) oM 37 Trrggd e |
(6) THPE a7 Ir& 2
@) ERAEARA @erd TTwAsE S It
(®) BT TIAG I=Ce I @R?
(0) M (M GRIR o ‘coi+if53 arepme e T @S &7
et - o
v fEfRS el scewet $ea wis (Reg eefe o) 8x¢=30
() W NfEeeg ceifon “faaire srafefll afar st ¢
CED
TCA SR fifemat =12if5a arzfoq agw st ¢
(}) TSIS! WL AT TCVSFTT S IR VAT GNF OGRS oAl
HRCH Tl T e +0=¢
() Preme sfdeafre @mba o s ¢
SR
AW AT IS N @RI? AW TNFR BT G SHCF A S G0 1 S+8-¢
() T G I 4 @ P P2 G @O QPGS TG 6T T71 H+8-¢
SR
“BTOR fE 2R I WA 1CDS 9T FEPIE @ 3+8=¢
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Questions are of value as indicated in the margin
Group - A

1. Choose the appropriate option given and complete the sentences (any five) :  1x5=5

(a)
(b)
(c)
(d)

(e)

®

Gobbet cells are seen in -

i) liver ii) small intestine iii) Pancreas iv) large intestine

The rate of galactose absorption is-

1) 95% ii) 100% iii) 110% iv) 115%

Vitamin C is mostly found in -

i) Apple ii) Raw papaya iii) Banana iv)amla

lodine is essentials for the production of which harmone?

i) Gonadatropic hormones ii) Thyroxine iii) Estrogen iv) TSH
Causes of pernicious anacmias -

i) iron deficiency ii) vitamin By, deficiency iii) vitamin C deficiency
iv) vitamin B; deficiency

Additional requirement of energy of Indian lactating mothers -

i) 550 Cal ii)300 Cal iii) 250 Cal iv) 450 Cal

(g) The beta (f)-oxidation process of fatty acids is completed-
1) Mitochondria ii) Cytoplasm iii) Kidney iv) Liver
2. Fill in the blanks with appropriate words/terms (any five) : 1x5=5
(a) The site of pentose phosphate metabolism is

(b)
()

(d)
(e)
(H
(2)

The process by which ammonia is produced is called

The condition in which Oedema Or swelling is observed due to malnutrition
is .

The interview method is conducted by steps.

In viral hepatitis, increases in blood.

Absorption of iron in the body is increased by the presence of
The full form of ICMR is

in the food.

3. Write down the full statement and mention true or false of the following (any five) :

(a)
(b)
(c)
(d)
(e)
)
(8)

1x5=5
Diets with no fibre is given to obese persons.

Pepsin is an amylolitic enzyme.

Nyctalopias is called night blindness.

The duration of food survey should be 11 days.

The nutritive value of Bengal gram increases in germination.
Five ATP molecules are produced during glycolysis.

Lipase reacts on butter.
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4. Answer the following questions in one sentence (any five) : 1x5=5
(a) Name the enzyme responsible for gout.
(b) What is Miconium?
(c) What is the full form of CFTRI.
(d) In which disease sodium restricted diet is given.
(e) Define Gluconeogenesis?
(f) Name two substances absorbed in the stomach.

(g) What is the other name of inteslinal juice?

Group - B

5. Answer the following questions (any ten) : 2x10=20

(a) Write the necessities of a diet.

(b) Why ptyalin cannot digest raw starch?

(c) What is the relation between Fever and BMR.

(d) What are the tissue layers of Small Instestine?

(e) What is the necessity of school tiffin?

(f) What is weaning food? Give examples.

(g) What are the components of nutrition Education?

(h) Who are the vulunreble groups in terms of nutrition?

(1) What is the major protein and carbohygdrates present in mother’s milk.
(j) What are the examples of ketone body

(k) Write the role of Erepsin.

(I) Mention the symtoms of Xeropthalmia.

(m) What is therapeutic diet?

(n) Name the causative agent of peptic ulcer and tubercutosis

Group-C

6. Answer the following questions (any four) :

(a) Describe the process of protein digestion in human.
Or
Draw the flow chart of TCA cycle. 5
(b) Discuss about the complications during pregnancy. Describe the immunological
benefits of mothers milk. 243=5
Or
Write down the causes of anaemia? Write two main symptoms of anaemia.

(c) Compare the symptoms of two diseases caused by protein calorie-Malnutrition
1+4=5

5x4=20

Or
What do you mean by Diet survey? Discuss about questioniar method.
(d) What are the different types of Diabetes mellitus? Describe the complications
associated with the disease. 1+4=5
Or
What is National Nutritional Programme? Mention the programmes of ICDS. 1+4=5
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Questions are of value as indicated in the margin
Group — A (EERED)

Answer any four questions (¥ (I 513f0 ot e we) 6x4=24
1. (@) An electric dipole of dipole moment P is placed in a uniform electric field of
intensity £. Show that the torque (7) acting on the dipole is given by 7 = PxE.
Hence define electric dipole moment. 2+1
e @, P farwe awe RiHE qofd ofte famee £ @RE T oo Zom 9
e farera e fEarle 5% (7) =, 7= Px E; aft s Sfer facre @meq sies

ure |
(b) Derive an expression for electric field intensity at a point on the axis of an electric
dipole. 2
Sfee fatre e Sl i Reqre sftcrwa dren fdfy F90
(c) What is the SI unit of electric flux?  Sfe: FITHF SI UFFH I? 1

2. (a) What are the factors on which capacitance of a parallel plate capacitor depends and how? 2
G FAAGAET S QT TG (Pl (@ [NEET 897 87 I qR FeMR?

(b) A parallel plate capacitor of 600 pF is charged to 400V. After disconnecting, if the distance
between its plates is doubled, what will be the potential difference between the plates and
what will be the change in energy stored in it? 1+2
3B 600 pF - TSI A4S I 400V [Rowa wifFe 371 211 T (e [ty w41

o offe 7o T Ay Red T4 T Afoqta el [e-aten F 7@ G s =feq
I AfRTS I?

(c) Dielectric constant of Glass is ‘8.5> — what does it mean? 1

FIHA AP $IF 8.5’ - @ IUF AL F?
3. (a) Find out the relation between drift velocity of electrons & strength of current through a

metallic conductor. p)
@I o7 ARRIEITS IEFGET TR (@71 @ ©fe RA@ FF ey 391

(b) Derive the Wheatstone Bridge principle. 225519 Jiter TS afedr w91 2

(c) Write down the expression how resistance of a conductor depends on temperature and
mention the significance of the symbols used. 1
Twolr T Q@A AR @Y Fei for s ow AfmEf @R g IkEe
AFoefE ey TEe 1

(d) What should be the resistance of an ideal Ammeter? 1
«3fB vl SfBICER Y (PN 7E TfbR?

‘4. (a) State Ampere’s Circuital law. SHIPIIES @=L @i kg® 41 ]

(b) With the help of Ampere’s circuital law determine the magnetic field at a point of distance r
from an infinitely long straight current carrying wire. 2
SFAREE IF°1R T TR 936 T e 3G SfGeNY OF (U@ r AT @I
e oirerra Ay 331

'p.T.0.



(©)

(@)
- (2)

(b)

(©

. (a)

(b)

(c)

. (a)

(b)

(©)

(d)

@
and radius 1.0 cm has a toth) Rloadeduby Sikshardatra

carries current of SA. Calculate the magnitude of the axial magnetic field inside the

solenoid? 2

10 m tcda SPmwTes IRTE 1.0 cm @R @TS NG 1000 A SOICT @R 37 SA
ofe o4TZ BT 1 T ST ARAETEH oo oF IR (PTG W T

Define mutual inductance. AR=ES STITEFI IR ws |

Write down Faraday’s law of electromagnetic induction.

SERRFRIT A TGS IO RS T

A circular coil of length L carries a current I. What is the magnetic moment of the circular
2

A solenoid of length 1.0 m

coil?

L Weda el qareTs $e 1 ofes #ifi<ed I 1 I FOd GITE ST T2

A long straight wire of length L is moving in a uniform magnetic field B with velocity V
perpendicular to the field. How much e.m.f. will be induced in it? 2

L e 3y @3 o B HARTAR (ST SO AR V @0 A | ©refbes

Ty SFomIEAT 76 T© N

An alternating current is expressed as 1=205in[100m+ Z] 4. Find out frequency, rm.s &
3

peak value of the alternating current. 3

GT> AR Sfe erRNIEE R ,=205in[100m+§]A 2@ ARRE! eI FE,

r.m.s @32 AN {7 F21
The length of a metallic wire is doubled by pulling it. What will be the ratio of initial
resistance to the final one. 2
GFfB (o7 O B Wd fed Fa1 211 2T ¢ N @IHE See F 2
What is the SI unit of magnetic pole strength? T 7 HfET S| 9T 2 1
Group - B (Reta-2)
Answer any three questions (& (I ot atia Teq wie) 7%3=21

An electromagnetic wave is moving along x—axis in vacuum. What are the directions of
electric field and magnetic field? 1+1

Gf5 S O YT x F A AL | ST @ (BIAFCRG (S
ey I 2I? '

Velocity of electromagnetic wave in vacuum is 3x10°ms™ and magnetic permeability of free
space is 4mX1 07 NC%s%. What is the electric permittivity of free space? 2
SR SepEe SAeE (@ 3x10°ms IR VY rEsemrel 4nx107 NCS%,
R EISERCINEUIC ST

Establish Newton’s equation in case of a convex lens. 2
Ben (R oRE FEHER TN eifosr T

What change will be found in focal length of a concave mirror when it is immersed in
water? 1

G35 Ted wilarE e [ufees Fa wwmﬂma?ﬁﬁﬁ?\ﬁm?



8. (@)

(b)

©
(d)

9. (a)
(b)

©

(d)

10. (a)

(b)
(©)

(d)

11. (a)

(b)

(¢)

(3 .
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; +8,
For a prism prove that M The symbols have their usual meanings. 3
sin =
ferera cwTa el sin 420
T = 2 AT abfre wdez)
sin g

A prism of refractive index /3 gives a minimum deviation equal to its refractive angle.
Calculate minimum deviation. 2

V3 afevmare b ferem i elfsiiass it T e i wor 1 EreT RS e
Aoy 391

What is polarisation angle? e (et Fl?
What is the relation between refractive index and polarisation angle of that medium?

SIS (I 8 (P T 2Afoaiza 71 2

What is diffraction? SR F1?

What is Raman effect? What are stokes and antistokes lines in Raman Spectra?
AER 2 A IS EBrE @ [eAfie GO @R I 2

How does the resolving power of a telescope depend on the diameter of the objective and

the wave length of the light used? 2
7R WA Raa® wve! afearea IB7 4R IIFS AR SPRAGE Toi P s s

The power of a lens is +4D. Determine the nature and focal length of it. 1

3B FETE FS! +4D, @A AFfS 8 @ v [efg T4
An object is placed infront of a convex mirror at a distance 2f from its pole. Find the linear
magnification of that object. Draw necessary diagram. f = focal length of the mirror. 2

q3fs TG wAftd N (P (@ 2f 0 9 T A Wiz e WRkie e Py

41 EIEAI AT oET 991 £=woa cenT W)

Explain why the colour of clear sky is blue. %7 SFIT 78 N @7 WA F71 2
A man can read clearly a paper at a distance of 25 cm by using a lens of power + 3D, what
is his near point? What type of defect is there in his eyes? 2

+ 3D FOLTHR (I AR 9T IE 25 om A WRES @A Iom BON “Iers
MR | OfF 765 @ % $9? ©fF Iedd @b Fiwol?

State one essential condition of two light sources to be coherent.

S A BT PiIS A GFf6 WP 1S =1

1
1+2

What is wavefont? Write down two properties of wavefont. 142

S P 07 SIAYLAR 7o & T 79

An air bubble is formed inside water. Does it act as a converging or diverging lens?

Explain. 2

T WG G AFF AT oAl AR aff afSHA T @R e T© WA dw?

RURIEE

Focal length of a convex lens is 20 cm. What is the changed focal length when it is
2

immersed in water? (Given Hy = %, U, = 3.)



12.

13.

14. .

15.

16.

()

(b)

(©)

(a)
(b)

(b)

(©)

(®)
(©)

(a)
(b)

(©

Q)

9IS & @R @RI 1Y 20‘cm. afore e P RipRdesRRY RiGhasIatra

T@? (1T IR, ,,g%,yw:i)

3
Group — C (R=t-4)
Answer any three questions (& CFICT foafd draq e wie) 5x3=15
What is stopping potential in case of photoelectric effect? What is the relation between
stopping potential & maximum kinetic energy of a photo-electron. 1+1

Tt e FRfs et i I ATEe-2EReE e AfefE e fife
Reww 7= I

Draw a graph to show the effect of potential on photoelectric current. 1
FEAITOGE 2MRT T Rered dol (Alts @36 (b oz F91

Calculate the de Broglie wavelength of an electron of energy 400 eV.

[h=6.63x10™* Js, m, = 9x10>'kg] 2
400 eV *feq @5 Sreedea & goiff wwmeng ey <

[h=6.63x10"* Js, m, = 9x10>'kg)

State Bohr’s postulates. (Itad Fidafa e 41 3

The quantity of a radioactive substance remains ! th part of it in 8000 years, find out half
64

life of that substance. 2

8000 ITR I (ST *Mia TR L wiext w12 Aee @ omnedd w4y ey 390
64

Distinguish between p-type and n-type semiconductor by fermi energy level. 1
I *f&w @M p-type 8 n-type TEARIRT Mg A1 T
Draw a circuit diagram for a n-p-n transistor in CE mode. 2
«3fB n-p-n GAEEHIER My 37w TeA1 foaft =i |
Convert the decimal number 89.625 into a binary number. 2
89.625 WIS FeYIMGee fad Y e w41

- Write down the logic symbol and truth table of a NOR gate. 2
NOR (157 & 2SI @ TSP 1

What is modulation in communication system? I IJZ TGE™T A [F@wsid 2 1
The value of Rydberg’s constant of hydrogen to be 109737 cm™, calculate the shortest

wave length of Balmer Series. 2
R el $309 T 109737 cm™ 201 MR @iF 2Few S fidy w9
Write down Mosley’s law. CNISeTd ﬂ?ﬁ ﬁ{G 9 2

What is mass defect? Write down the relation between binding energy and mass defect.1+1
STF INE I ITTE 8 SI@B T =14

A radioactive nucleus /x initially is at rest. Afterwards one a-particle and one f-particle
are being emitted. Find the atomic number and mass number of the final nucleus Y. 1

aFfo coudm FefFmE Ay erfiens R wim) oree & RSk @e @ oF9 @
ms—asmﬁﬂ@mwﬁmﬁ@fﬁwmﬁ)mmﬁwwﬁ@wn
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Wood Work (Vocational)
Time : 2 Hours Full Marks : 32

Questions are of value as indicated in the margin

Attempt any four questions. 4x8=32
@ I RS v Tew wie

Find out the volume in cft of the following pieces of wood (any four)
i s10e fewefm s afza 391 (@ @I 51El)

(i) o/x3"/x2!" x g Pes. (ii) 10/x8//x2//x10 Pes. (iii) 6/x2//x 14//x8 Pes.
(iv) 8'x2/x1//x12 Pes. (v) 6//x6!/x6//x8 Pes. (vi) 6/xa’/x2//x6 Pes.

4x2=8

Sketch a cross section of a tree trunk and name its pasts. Explain Medullary Rays and
sap wood. 4+4=8

AT ST 2B T A ORI A (A1 | IFTAHNE @92 TNE I TE
] & @R 1

Sketch a Hand saw and show its parts and explain its function. 5+3=8

OIS IS TR TFA I ©IF weHwf s 32 w3e oz IR 36T 9941

How many types of screws are available in the Market? Draw a neat sketch of any one
type of screw and describe. 5+3=8
G I AIEE F AT T @R T 2 @ G 9F 2778 71 2R wmw v@ oiRE
Teefe (AAne |

Write down the name of classification of wood working hand tools and give three
examples from each groups. 8

I FICGR @pifere Faa @A T @12 2t @A Foxd e Twzad wis |
6. Briefly describe the manufacture of animal glue and its uses.
fafam TR oge 9 ¢ IRAEF Rifis fead wrs |

Why conversion of timber is necessary? Name and explain three methods of converting

2424240=8

4+4=8

I (5A12 AT AEARS! 52 1o A13 I foxfs “aforq 3t wie

8. Write short notes (any four) : Bi%t &2 (@ @ v1=7)
(i) Heart wood (31 F19) (ii) Trysquare (BTN) (i) Hammer (g
(iv) Marking gauge (%) (v) Gala Palish (e =iifers)
(vi) Check defects (F15e1 (W)

4x2=8

-
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Chemistry (Elective)

Time : 3 Hours Full Marks : 60

Questions are of value as indicated in the margin
Group-A (Ro15-)
‘ Answer any 12 questions (¥ (319 12 5 2raa Seq WS : 1X12=12
N 1. (a) What is the percentage of void space in bce and fcc unit cell?
aﬁm@ma«qﬁzﬁwmaumﬁmmm
Afad F©7

(b) What is osmotic pressure? TfSHI9 517 17
(c) What is cell constant? Write its unit.

@M 39 7 9T 9 G
(d) Write down the relation between half-life and initial concentration of reactant for zeroth
order reaction.

el R ovea adgEeE ¢ Riasa arafes sipred T TR0 T

(e) WhaisCMC? ~ CMC 7
(f) Write down the chemical equation involved in thermite Process.

B “mafeq 72 armfe R e
(g) Give two examples of Inter-halogen compound. S CERG (€T AT TUIRA WIS |
(h) What is “Nobel’s Oil”? “GItIeT &icze1” {2
(i) What is Double salt? Give example. (3% &34 ISYACETC R
(j) Draw the structure of Marshall acid. et Spifsed o107 aE Sl

(k) Identify Aand B: A® B (F IS I

H, /Pd
@*—2—-— CHp = CH - CH, CH (Br) - CHy —Ko—"i' COh

() Identify A and B: A8 B (F *[I& I :

OH
DCCI4INaOEI67°C X
iy dil HCl -
.4 (CH;C0), 0

Conc. H,S04

(m)  Write down the suitable reagents for the following reaction.

ﬁmﬁﬁmﬁw%mﬁ?ﬁm@ﬁ el
' CRUHONY

P.T.O.
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RS @ G I -
(n) Identify the product A and B: A s A @ B

: llation
Ca(OH)2 Dry Distillatio

—_—
CHy COOH (% o)

te the structure of X and Y: X8 Y @F s/oe (ETC

o))
NHsSH @ Zn / NH,CI > @
Pl 50% C,HsOH, &

NO,

(p) What is the [UPAC name of Sucrose?  JCERICEE [UPAC AN &7
(q) Write down the name and structure of monomer of natural rubber.

Sirpfod JAICER AN AN @ A5 (ETe |
(r) Give an example of an antiseptic. a3fs wfBrTifored Tuizgd aha

Group — B (Rete-2)

(o) Wr

Answer any three questions (¥ (P14 foqfS &Teg ©ex wie ; 5%3=15

2. (a) What s F-Centre? F-(3® 72 1
(b) Tungsten (atomic mass 185) crystallizes as bce unit cell. If atomic radius of tungsten is 137
p.m. then calculate the density of tungsten. 2

BIeeh (AR ©9 185) MG (AP (TRIFES TASIRIF O 210 FC 1 o
B1e5 4igd AN IPNE 137 p.m TF, SR BREGT 41G Ty [ I

(c) What is Schottky defect? (Give an example) 1.5
%ofe @b fF7 (Tvizge W)
(d) What element would you dope into silicon crystal to get an n-type semiconductor? 0.5
a6 n-B12e TEATARY (ite FHifees @t QN @I Gl (ol F93?
3 (a) Write the Raoult’s law for the elevation of boiling point of a solution. l
B FOACET ORI IS AOCo A =Tet

(b) Define colligative property with example.
TIRAPTR FRANS (T AL T

(c) When 1.53 gm of a compound is dissolved in 90g of benzene, the freezing point decreases

from 5.51°C to 5.01°C. Calculate the relative molar mass of the compound (k¢ of benzene =
5.12 K.kg.mol) 2
90g T 1.53 gm OEA I A TAge F4w f&E 5.51°C @ 5.01°C @ FFA

A1 ANAfSE Sefes wafds o9 Adar a1 (@fETd ke=5.12 K.kg.mol™)

(d) What is isotonic solution? ~ SIITIBRE &9 IS I (A2 1

4, (a) Calculate the EMF of the electrochemical cell given below at temperature of 298 K and state
with justification whether the cell reaction will be spontaneous. .

A5 ovg ofbe TS @B 298 K SIFNI@E EMF 719! ¢l a2 @ RRfeaf
ToFe R a1 o7z e
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Ag(5)| Ag™ (0.01M) || Zn™ (0.1M) | Zn(s):; Ef g =080V, EL . =076

Zn~"\Zn
(b) What do you mean by equivalent conductance of a solution? Write its relation with specific
conductance.

1.5
B g AR <ecs R @i e QIO MY 97 771 et

(c) At infinite dilution molar conductance of BaCl,, H,SO, and HCI solution are 280, 384.5 and

426 ohm™'cm?mol’! respectively. Calculate molar conductance of BaSOj, solution at infinite
dilution. 1.5

SN TSI BaCly, H,S0, € HCl 490 (= “AfRIES I(FT 280, 384.5 and 426
ohm™'em’mol” T WA K@ Baso, wawdw ey “ARRIRS! fisf e

5. (a) Show that the half life of a first order reaction js independent of the initial concentration of the
reactant. 1.5

@mre, @3B AW T ffen ad@ian w01 Riares ds sivcer @ fse 3@
Bl

(b) The rates of the first-order reaction are 0.04 mol. LS and 0.03 mol. L''S™ respectively,

after the commencement of 10 min and 20 min of the reaction. Calculate the half life period
of the reaction. 2

a3 elamay R o zemm 10 FRB @2 20 RFE “7 RiFw 29 W@m 0.04
mol. L.S™ and 0.03 mol. L's" Rf&aifba @iy fefy wem

(¢) Derive the integrated rate equation of first order reaction. 1.5

AATEY R STlre g7 A0 2fest v

6. (a) “Adsorption is an exothermic process” — Explain. 1.5

“TFYCIY @ S e — vt e
(b) What is Gold number? ¥ 312t 57

(c) What are Schulze — Hardy rules? Give example. ‘ 1.5
- el &7 Trregd we
(d) What is Tyndall effect? foare eeq 57 1

7. (a) 20g of a solid solute dissolves in 180g water to make a solution. Vapour pressure of that
solution is 740 mm Hg at 100°C. Calculate relative atomic mass of the solute. 2

180g ST (PICT I3 WCTA 20g TIAGS F1 2T 100°C S @RABH A=15151 740
mm Hg. @369 @itaife a«fqs 9 a1 st

(b) “Hydrolysis of Sucrose in acid medium is a pseudo first order reaction” - Explain 1.5
“aNfTe Ney Jrated TRRERT I T 44N g R - we @

(c) Passing a current of 3 amperes through an aqueous solution of AgNO; for 10 minutes
deposits 2.015 g of metal at the cathode. Determine the chemical equivalent and
electrochemical equivalent of Ag metal. 1.5

AgNO; 99 TR G0 W faca 3 enifera ofes 10 RS« et wawt s
2.015 &AW 4 S W1 Ag @7 ITAE 0% @ ©fbe, IMAF Goyrm Fieky e
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& @ Fous eris Te whe 5

jons )
esti 12 Which one between hematite .12
and Iron

; iron? LS
ites is the ore of iron? 8 g AR @3 |
N e o < e E® 7 (DR TN @Ry

SREAT ARE?

(b) Writea short note 0
(c) What is the composition 0

g A 2

n “self reduction process’. : y
£ Duralumin? l

9. (a) Write down the difference between the bleaching property of SO, and Cl,. 5
S0, ¢ Cl, «3 fR=em qofa ~irday el

(b) Draw the geometrical structure of XeF, and BrF;. ;
e 97 wF I : XeF, @ BrFs

(c) Why H,0 is liquid and H,S is gas at room temperature? |

g TReeiy H,0 OFd R HyS U (@47?
10. () What happens when concentrated H,SOq is added to sugar? (Write the concerned chemical

reaction). 1.5
3 T, T BFF T T H,S0, @7 T A1 (AR IS Tt @)
(b) Among the following acids which one is most acidic and why? 1
A wibeefi Ty @b SfFFst JE® ¢ @7
HOCI, HOBr €< HOI
(c) What is Nessler’s reagent? Write its use. 1.5

P elRe 57 93 IRF @
11. (a) Why ALOs is called “Amphoteric Oxide”? Give appropriate reaction?
ALO; (F TS R 71 (@7 By R wiha |
(b) KHF, salt exists but KHCI, or KHBr, salt does not exist — why? !
KHF, 9099 % RS KHCl, 91 KHBr, 709 Sy (73 (7

(c) Why is Cu called transition element but not Zn, even though both Cu and Zn have
completely filled d-orbitals at the ground level? l

i‘j“mcmlnwmﬂwwﬁ%wa@e Cu fHore G f#8 Zn
T @

2 (:\)) Wh.at is Bayer’s Reagent? “Jqig” e i l
(b) Write the equation of what happens when KMnO is heated g
KMnO, @%@@wﬁs‘aﬁ@ﬁwmﬁ;ﬁt o
S |

Fez’ <] Fe3+

(3]



)

13. (a) Write the [IUPAC name : (IUPAC 9 (eTC4T:) 1
[Cr(en), (ONO)(CI)] NO; or [PtCl,] [PtCly]
(b) Write the structure of ionization isomer of the complex compound [Co(NH;)sBr]SO4
[Co(NH,)sBr]SO, foa1 (sif6d Q= SIRacad 219+ el |
Give example of an ambidentate ligand, a flexidentate ligand and a hexadentate ligand.

a5 SfRTeCss, Il FETerss 8 ¥l EITerss fottes Tnizad we

Uploaded by Siksha-Satra

1
(©)

1.5

(d) What is the oxidation number of Fe in [Fe(CO)s]? 0.5

[Fe(CO)s] &fbe Tt Fe @F TR e F97?
Group-D (Ret-9)

Answer any three questions (¥ (I fSAf5 &Taw Teq nis : 7x3=21
14. (a) Convert (F°I®T FA1) :

i) Phenol (CF4=T) — Aspirin (SHA{HEA)
(b) Identify A,B,C,D & E.(A,B,C,D SE (3 *I& F(A1)

COOAg
i Bry Mg/dry eth H,0
o mepumeg e

A

L5

5x0.5=2.5

H,N - NH,

(i) B, Hg/THF
C,Hs0K

(ii) CH3CH, COCH3

-®

(ll) H2 02 / NaOH

(c) Write a short note on “Reimer Tieman” reaction.

1.5
(Gt cEe): - zizwe Bwe R

(d) Identify A,B&C

A, B8 C (@ & I
H

i) Conc.H,S0,
@ O ii) Conc. HNO; B ®
~60°c

(ii) CH3CH(OH)CHy —— > CHCH(l) CH ———> CH3CH(NO,) CH,4

0.5x3=1.5

15. (a) Convert (fFTe FCA) :

(i) Acetic acid (@mififoe WifSTS) — 2-Propanol (2-CAT2HeT)
(i) HCHO — CH;CHO

(b) How can you differentiate between Benzaldehyde and Acetophenone by only one chemncal
reaction?

aWWWWmﬁ%ﬂi‘wewﬁtﬁmmmmew
FAR?

2x1=2



6
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(c) Identify A to D in the following reactions: 4x0.5%)
e RiFaefivs A (@ D e T
HO
10% NaOH
0 é KCN / C;HsOH . @ (ii) CHCOCH; = —= ,
A |
1
OOH |
Conc . HNO3
Brady's reagent i >
(iii)  CHsCHO A ~(© (iv) Conc(" 50, ©),
~60°C
(d) Give proper example of the following reactions: 2x1=2
Tovs RfFareln Soge Swzad wis |
i) Clemmensen reduction (@‘T‘IW IREIER))
(ii) Crossed Cannizzaro reaction (¥ Sifg&icat S))
16. (a) Identify A to E (A (ICF E ¥I& I¢H) 5x0.5=2.5
H,
Bry / KOH NaNO, / dil. HCI Q_OH
RN -© -®
00C—50C NaOH, 00C — 50 C
l CHCl3 / KOH | KCN/CucN
A
(b) Write a short note on “Rosenmund reaction”. 51! GTTRT: “cAiceane [Kfewqr 1.5
(c) How can you Convert? ([FoIta “f§aeq F43?); ‘ 1
(5&
(d) Compare the basicity of CH;NH, and PhNH,, with proper reason. 2
T4YE P4 32 CH;NH, @ PhNH, ~93 FIRIITOE 9ol Tl |
17. (a) Explain mutarotation with an example. 15
G5 TRIRACIT TR FCOIRIG it 7t |
(b) Show the structure of Gly-Ala-Asp tripeptide. Gly-Ala-Asp BiZTot*51ZefBz 199 (718 11.5
(c) What do you mean by “The isoelectric point of Alanine is 6.02°? 1
AR AOCS 9 6.02° 08 & @

(d) What are the pyrimidine bases present in DNA and RNA?
DNA 8 RNA (S T-ifFs PiEafifen wreef & &

(e) Write the name of vitamin-A deficiency disease. 0.5

@36 fEBIfA- A WBfowT® e T e
(f) Write the structure of A,B& C (A,B8C «q o (FTTRY) 0.5x3=1.5
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) p(+)-Glucose *Naai__,_ @ .
(1) D(-)}-Fructoge . COHENHNH,
Bry / Hy0 CH,COOH /A

D (+) Glucose

(iii)

0 What is vulcanization? Write two advanta
. l b

SEreTREr T %7 Ao At e afw o o e

(b) What is meant by the term ‘6,6” in Nylon-6,6? How you can prepare Nylon -6, 67  1+1=2

AZ 6,6 -4 “6,6* FAT Y 57 FiZer -6, 6 forora 2w Fara?
© Give example of each of the followings: t5a elteriGg Taug wre: 5%0.5=2.5
(i) A thermoplastic polymer (935 AfomsBe fersa)
(ii) A non-narcotic analgesic (935 TH-TRCFMHS TpFETEER)
(jii) An antibiotic (4> WNfBACHES)
(iv) A food preservative (@3 AW AELHFD)
(v) An anionic detergent (40 ST fErHTers)
(d) What is gutta-percha? SNBI-2115T f? 05

ges of vulcanization of natural rubber. 1+1=2

| 9. (a) Identify A, B, C and D in the following reaction sequence:

Sz i @uerT effite A, B, C 8 D @ *Me ¢ 4x0.5=2
OOH
0] B soch
Fe Bra @

o _ aq. Ba(OH
(i) CHy-c= cH —1°HIS0 © q-BaOHl2 ®)
20% HySO4

60°C - 80°C |
(b) How can you convert? fFoiE Hfdaed I9?
Aniline—> Benzyl alcohol (&2 SIACIR)

(€) What is zwitter ion? G20Tq e @2

1.5

(d) What is Epimer? Give Example aferra 62 Trrzad mis | L5
(¢) Give an example of biodegradable polymer.

a3f5 Yt sifericad Turgad s ! |

®  What is Formalin? e &7
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Pre-Degree Examination, 2025

Rabindra Sangit (Vocational)
Time : 2 Hours Full Marks : 32

Questions are of value as indicated in the margin

@ I o6 4rg e wis 8xbr =0

1 R Wias ¥ swfoq @ @ vl R @) 8xR =br
3 ffe emef Wt @ @i 9f e o Tz 9 e we (e TurRaeTR) |

i-rerE, faom, T, oeu) 8+8 =br

o1 79 7B o G ¢ 5 5?7 97 W @ @A 9B S o4l AR W1 v+ b
81 FICT ORI b Wit P12 7S witera TN 7ol @ Saa Sy @ WSS b FCE |

: Y =
¢ 7 e FA6 R ¢ [T 2 o Wy o w93 e a®A TR eI
fefsm e » 8+8 =br

Y | FAMALT T TR FHeNTOT AOR FATE QD ! | v
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Pre-Degree Examination, 202

Biology (Elective)
Time : 3 Hours Full Marks : 60

Questions are of value as indicated in the margin
Group — A [ Marks-28]

fRerts (T93-v)
1. Answer the following questions (any six) :
RafeRe aefem Ser wis (@ W =) :
(a) What is the significance of test cross? BB TH-9F eFQ 7
(b) What is Barr body?  I<3f® Ji?
(¢) Which hormone is known as pregnancy marker hormone?
@ WA ToRE biEs @2
(d) Give an example of co-dominance. 2IoeR I THIZAT WG |
(e) What is sporopollennin? CITRTATARR 212
(f) What is genetic drift?  c&af G=6 2
(g) Which disorder is characterized by the following karyotype 44A+X0O?
44A+X0 FIRSHIR 7[ @ @i s s =72
(h) What is cleistogamy?  fFwoHmN Fi?
2. Answer the following questions (any three) : 2x3=6
fTafRe axefa Tea s (@ @I foaf):
(a) Write down functional differences between sertoli cell and leydig cell.
ARG (1 8 @St @I T IS ALy @O
(b) Why DNA replication is called semi discontinuous?

DNA afsfafresace ad Rtz 7o =1 &2
(c) Write down two characteristics of entomophilous flower?

(d) Write down differences between divergent and convergent evolution.
oAl e ¢ QfeHal [RASa o =irfey el

() Write down permanent surgical contraceptive methods of male and female.
79 8 T R T IWLIAY F@lod N TN
(f) What is kinetochore? FRHADGIER F1?
3. Answer in brief any one of the following questions : 2x1=2
e @ @ @3 aee e Tee wrs:
(a) “Linkage opposes crossing over” - Explain
‘e FHiesH @ ofozs I - A T
(b) What is human genome project? RewiH f&wam et 2

1x6=6

P.T.O.
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(2)
(c) What is parthenogenesis?
o 2
4. Answer the following questions (any two) : Tx2=14
fafRe ayefe Ser we (@ @ 1)

(a) Write down causes and symptoms of Down syndrome. If a color blind female marries
a normal male what will be inheritance of disease among next generation. (Explain
by checker board) (2+2)+3=7
e PR IR ¢ THAal] SEnT o9 1w gt qdiE X Teie JF s {w
FE SR 63 @R (KRBT O TSAME N0 et a2 (1 @ITSd SR WA )

(b) Write down two properties of genetic code. What is okazaki fragment? Mention the
role of SSBP and helicase in DNA replication. What is central dogma?

21+ 1+1)+2=7
EADT P 4 «¥ WISl T e 16T W7 DNA afefiad SSBP e
RS P! S IR | CTEE Tl F1?

(c) State Hardy Weinberg principle. What are the components used in Urey — Miller
experiment? What is sibling species? Write down differences between ape and
Modern man. 2+2+1+2=7
T TRl AeH Kige @ T 8 fam a7 RAwy @ @F Sy Iz AT
frfer ewifs Jite w2 AL @T-99 @ Sy T

(d) Write down differences between conjugation and syngamy? What is ZIFT?
Differentiate between Morula and Blastula stage. Which hormone induces release of

ovum? 242+2+1=7
N ¢ Prenfa wway N @Tear? ZIFT 2 T=Fe1 8RBt wiid o Ny coeai 1 o
Aot (I ZACA T TS 2
Group — B [Marks-16]
o - 4 ((FF-HY)
5. Answer the following questions in short (any three) : 1x3=3

ffiRe anefm ke Tea whe (@ @1 foM):

(a) What is the source of taq polymerase enzyme?
Taq polymerase BGT5F 3 B3 H?

(b) Write down full form of MMR? MMR 9= &1 9 FP?

(c) What is hapten? % I

(d) Interferon immune system is active against which type of pathogen?
TDFAN AT (P (FAR RGNS [eva A2

(e) Write down two advantages of GMO? GMO 493 46 3Rt e

(f) Write down one example of SCP.  SCP &% @36 TAIZae =4l |
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6. Answer the following questions in short (any two): 2x2=4
s eyefe e Tag wie (@ @ ufd):
(a) What is palindrome sequence?  ~STEG™ P INF 17
(b) Which parasite is responsible for Filariasis? #2EREM- & 78 AFQF A B2
(c) Which lymphocyte is active against tumor cell?
BeN @lewn Reers @ @ fioernss feat @2
(d) What is cosmid? e 7
7. Answer in brief any one of the following questions : 2x1=2
Al @ @i 93t eim Afire Sor wte -
(a) Write down differences between cell mediated immunity and humoral immunity.
@1 i amiaet ¢ 71 fofew antaTer Tug 14w @I
(b) Write down two significance of micropropagation.

(TfRRE19) TITSHAHATT 7 95 @y @l
(c) What is Biopiracy? Give example. ICIZEG 1CF It1? Tvizad wia
8. Answer the following questions (any one): Tx1=7
e el Ter e (@ @ 93f)
(a) What is nocturnal periodicity? Write down primary and secondary host of malaria.
What is proto-oncogene? What is endemic disease? 2+(1+1)+2+1=7

fiea s/gfe I IE? VIERE @R T T 8 MY (IErPa SwIzad ws ) (AT

qEEEH F? QNS @ T @2

(b) Write down the uses of gene therapy with example. What is cDNA library? Why
restriction endonucleases are known as molecular scissors? Give an example of
artificial plasmid used in genetic engineering. 2+142+1+1=7

EwraepTz o (2P I97F @l cDNA FIRER I I071? anaifieipaece @i i
T @7 @A e @ TIEe 9t Ffaw grafites Surrad we

(c) What is emasculation? Explain the role of two microorganisms in food industry.
Write down example of phosphate and nitrogen supplying microorganism present in
s0il? What are the components of biogas? 1+2(1+1)+2=7
TAPPERA TS I @MI? A TAM 9o SEd gl STl FE | ARGEA 8
FTACED AR WHTS TS AEIad Trrzad e 1 W R SeimmelH @

Group - C [Marks-16]
femi-a (AF-Hv)
9. Answer the following questions in short (any three): 1x3=3

e el e Toa wie (@ @ o)

(a) What is ecotone? Z{ITHH I q(A?
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(b) Write down full form of NPP. NPP @3 <t I ¢=eh
(c) Write down an example of secondary pollutant. ¢ & smnda G Turead wing |
(d) What is alpha diversity? el ¢3foey SIS =12
(e) What is benthos? [T IIF IA=T?
(f) What is vital index? SIZ5E 53 A7
10. Answer the following questions in brief (any two): 2x2=4
afeiRe emefE vt Bea ws (@ @ 76):
(a) Write down differences between autecology and synecology.
RIS @ FRESE WTag #iiwy G
(b) Write down the relation between food chain and food web.
A *ERET 8 AW TS AT T WS o ST LT |
(c) What is cryo preservation?  GHEPRI®I FICF W17
(d) What is carring capacity? Iz el I#C® & @AM
11. Answer the following questions (any one): . 2x1=2
e aefam e ws (@ @F 93):
(a) Write down differences between habitat and niche.
RS 8 e Ty ALy @
(b) Why energy pyramid is always upright? - Explain.
e Prifire 1w SR 2 @92 - [ FAT
(c) Describe biomagnifications with example.
e R4 I I0 TriRdel TR G |
12. Answer the following questions (any one): Tx1=7
fafRe gmefem Ber wis (@ @I q3):
(a) Write down difference between J-shaped population growth curve and S-shaped

population growth curve. Write down an example of plus minus (+-) population
interaction. What is climax community? Write down two conditions for growth of a

population. 2+2+3=7
S wipfen @ ] agfer faw @ T AW @ HITe AN (+-) F M=

MR=iF ARETT TAIzA WS | RO IROAD FIF T2 AT Jaq a4 7S 1S

ETCR
(b) Write down short note about chipko movement. Write down the causes of ozone
hole. What is SPM? Why water bodies are called natural kidney? 2+2+1+42=7

Bt (@13 BTl WeAE | eE TR JffEa I @ F1? SPM FT© F @IRT? SEAGHRS

APl 9@ T T @7
(c) Write down a short note about the detritus food chain. Name two hotspots present in

India. What is algal bloom? Write down the impact of sound pollution on human
health. 2+2+1+2=7

BT TR T AW YR | SRS 75 B0 97 T (A A g 7 I AL
@93 ¥ AT HOoPEE ST A Sl |
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Pre-Degree Examination, 2025
Elements of Computer Science (Vocational)

Time : 2 Hours

Full Marks : 32

Questions are of value as indicated in the margin

1. State ‘True’ or ‘False’ for the following statcments. (any six) :

1)
1)
iii)
iv)
v)
vi)
vii)

The base value of Hexadecimal number system is 10.
%f is used for float type data in C program,

Any negative number is recognized by its MSB.

Primary memory is RAM.

ROM is a volatile memory.

Mozilla Firefox is an application software.

Scanner is an input device.

viii) NAND is a universal gate.

i)
i)
iii)
iv)
v)
Vi)
vii)

. Answer in short the following questions (any six) :

Give two examples of application software.
What is URL?

Find out 2’s complement of (101010),

Write the truth table of a two input AND gate.
How does a NOT gate work?

What is secondary memory?

Give two examples of Input Devices.

viii) Write the syntax of for loop in C program.

1)
ii)
iii)
iv)
v)

vi)

i)

ii)
ii1)
1v)

v)

. Write the difference between the term (any three) :

RAM and ROM.

Application software and system software.
Mesh topology and Bus topology.

Input device and output device.

AND Gate and OR Gate.

LAN and WAN

Solve the following : (any three)

(252)10 =(?)2

(11010])2 =(?)|0

Subtract (110011); from (1111000),
Add : (100011), + (101001),

(10B))6 =(?)s

6/1=6

6x1=6

3x2=6

3x2=6

P.T.0.
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5. Answer the following (any two) : 2x2=4
i) Draw a flow chart to find out the average of three numbers.
ii) Write the one advantage and disadvantage of Star topology.
iii) What is operating system? Give an example.
1v) What is Brower? Give an example

6. Programming Language (any one) : 1x4=4
1) Write a C program to find the largest number among three numbers.
1)) Write a C program to swap of two numbers.
iii) Write a C program to check whether the given number is Even or Odd.
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Pre-Degree Examination,

Geography (Elective)
Full Marks : 60

Time : 3 Hours

Questions are of value as indicated in the margin
Draw diagrams / maps wherever necessary.

qreH fog / weica afcet

Group — A (Rert-<)
Physical Geography (W geattE)

1. Answer the following questions : 1x12=12
[BERIECREELICERCERG I
(a) What is the meaning of the Greek word ‘Dendron’?
A =% GGt 93 9 52
(b) Name the line below which snow starts melting.
(T (IRF NG QIR A I ©IF Y @ |
(c) Give an example of antecedent river.
435 44! e Swizad W
(d) ‘Paternoster Lake’ is associated with erosion.
‘AT W FHIIEI X I |
(e) Which instrument is used to measure the humidity of air? .
IR TwS! AR @ TF ITE I ]2
() Atknick point __ is formed.
fie fRvqee 32 =
(g) Which sanddune is known as crescent shaped sanddune?
agpapts Al &
(h) What is the full form of ‘ITCZ’? ‘
ITCZ -a3 orar 32Mf5 2
() salt is highest amongst different salts in Ocean water.
TG T NPT AN WG 9 TG
(j) Loo is a Periodical wind / Planetary wind / Local wind / Irregular wind.
= s Tl <1y / P g / 20 g/ P )
(k) The average salinity of Ocean water is
TANAS G M &SI e |
() Give an example of a depositional landform created jointly by the action of water and

2. (a)

glacier.

RR1R ¢ W e TR T B @3 g Targad e
Show the differences between the followings (any one):
ALT @RS (A @I GF0):
(i) Centripetal and Radial drainage pattern. @FEIA 8 @FHARAA T [ A |

3Ix1=3

P.TO.
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(ii) Tropical and Temperate Cyclone TR ¢ FifEAcere gfrs
(b) Give Geographical reasons (any one): 3Ix1=3
St Frad we (@ @W «f):
(i) The deserts of the world are mostly located in the western portion of the continents.

R @7 o1 TEgeH TR Afvae s )

(ii) In same depth, water of the Mediterranean Sea is warmer than Atlantic Ocean.
GFE TS, YNNG T QB T2 S T |
. Answer the following questions (any two): 6x2=12
RafiRe emefem Teg ws (@ @F o)
(a) How do Evaporation, Precipitation and Rivers control the salinity of Ocean water?
IEAS, FYITFAT 32 T PO A STk FITONE g Fea?
(b) How does Natural Arch, Sea Cave and Tombolo are formed by marine action?
TEE IR @ A Frefie Rem, Afas @ ¢ S e o2 =
(c) Write about Inselberg, Gour and Deflation.
TACERIE, 7 8 SR TS WHCH @4
(d) How does Altitude, Temperature and Water Vapour Control the Air Pressure?
Twol, Txeol @ TRt o IR v REe s
Group-B ([R®ri-2)
Economic and Human Geography (A% @ NA% goaie)

. Answer the following questions : 1x12=12
e amefias Teg wie :
(a) Give an example of an Anadromous fish.
G SHFICGIT MRT TAIZA WIS |
(b) __ type of fishes thrive on the upper layer of the water.
AYES BRSO WOR W bebE A |
(c) In which forest olive trees are found?
TEAIR SR (I SRy (7l T2
(d) Where in India did the first jute mill start?
SRTS (I AW ABIAG G Trfee?
(e) Which industrial city is known as ‘Oriental Manchester’?
@17 iy A4 “SABIR ADBIOIR ICA?
(f) Jarwas are found in which part of India?
TS (P AR G (RS 2ANSAT TA?
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3)

(8) Whatkind of natural vegetation is found in Taiga?
f aw TofEe Sigw o oz o a0

(h) _ arc inhabitants of Kalahari desent.

IR wrefiva afiarh
(i) The wine made by Bantus from bananas is called
AR I (et R T T 3y 1

(5)) Which city is known as India’s Rurh?
(T QR SIATSH WY’ AW Afafoe?
(k) In India, the Central Teca Rescarch Institute is situated at _
SRATSA (I B NN @B wage,
(I) Crop cultivation and animal husbandary both are practiced in ____
5 B q3e Avee g s yeenfrs 2
5. Write short notes on (any two):

s Biat (oY (@ I fd):
(a) Optimum Population 39 SR

farming.

Ix2=6

(b) Fish Conservation W& %4
(c) Eskimo  «f¥tat
(d) Intensive Farming &6 A

6. Answer the following questions (any two):

xRS dxefr Baa we (@ @ ) :

(a) Discuss about the production of Paddy in three important paddy producing countries of the

6x2=12

world.

AR oA oy I TS (ORI BRAWTR oo WAL 341
(b) Describe the livelihood pattern of the inhabitants of Hot Desert Region.

Tw WF GHET SRAPITE G g Raad s

(c) Discuss the reasons behind the agglomeration of [ron and Steel Industries in Eastern India.

ﬁmm-wma@@mam%ﬁmmw»
(d) Discuss the growth and development of Lumbering Industry in the Coniferous forest.
oy way oeeeet 78 feEa waeif o Bl sreel st 3

I

V
v
W
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Pre-Degree Examination, 2025

Tabla (Vocational)
Time : 2 Hours Full Marks : 32

Questions are of value as indicated in the margin

i oY aRfe agel (1 @i oft greg B wie)

S -G wibfS dre Twa wie Sxbr=br
(¥) T3 M2 ¢ Tz vgad acfors & e
(4) 936 e T @e o 5fs wfa e
(%) stoar 9fb wreea am @
(¥) 8 wam «fet wme 99w 93 SwerE A @Y
(&) @ WA AlorenER et FS WA (AT F T
(5) TS A TW a9+ 9o SrAT AW @A
(%) 93 ARTH IFA O fGed F$ Tt (AT ©F W)
(@) azereR 3 frem wme?
() do AR @fb ST=2 A &L
() S2En 36 ofF An?

21 oo 3 srd ¢ 9 fFu sredte sEfaf+ Tafers @2 8+8 =br
© 1 (BTONER %! o1 e fa-69 Ty Srexts TEfA+ “afers @) 848 =br
81 W (1Y (@ 17 b1aD) ALY =Y

) (o2 W) AE ) fIE ¥) W@ @) 7 B) A

¢ faeea a3ft M 4t =11 72 foxR sredte sEkls afere ffora 4.
PRI =Y

o1 e @ @F aFus [(M42 o= IwEs qeal @ v
(¥) ~les Jramge
(%) wf =
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Mathematics (Elective)
Time : 3 Hours Full Marks :80

Questions are of value as indicated in the margin
T 1. (a) A GITA @30 9Ty TGF WG (Answer any one question): 2x|=2

(i) f(«t)=l:—{,(xi—1)m 18 T, ./‘(f(lD:l x#0
I+x X

;s
. =% . 1 1
If f(x)=——,(x#-1), thenshowthat f| f|—||=—.x#0
l+x X

X

(i) W= fRefy > sin™' {cos(%)}

Find the value of sin™' {COS(E%ZJ}

(b) & AT 96 AT TEF WIS (Answer any one question): 2x]=2

(i) 9% 2x2 & R A =[qa,] W4 30, @A a, =%|3i—4j]

Construct a matrix A= [au] of order 2x2 where a, = -:lz [3i—4]|

v 49 1 6
(i) RFsFTI@Re @ 39 7 4/=0
26 2 3
49 1 6
Without expanding show that, 39 7 4/=0
26 2 3
(c) @ A1 foAf6 2t Teq WS (Answer any three questions): 2x3=6
(i) f(x)={;x:; j:: qUEe x =1 e ®e 2 ¢ 93 I T s

ax+3 x2 ) )
f(x)= y If the function fis contiuous at x =1, then find the value of «.
x“+a° x<I
(i) xJl+y+yJl+x =0T, MAS @A £lzz— 1 (@@= y)
. dc  (x+1)?
l' If x\1+y+yJl+x =0, thenshowthatd—y=— : 5 (where x # y)
dx (x+1)

(iii) W g <t - Je‘(l +tan x + tan’ x)dx
Find the value of Ie"(l +tan x + tan® x)dx
P.T.O.
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) =4x+2x .
(iv) @ e y 4x 4222, at which the tangent drawn is parallg| toip
’ '21,\{'

Find the point on the curve Y

J— Ll
f(x)=x'—x-12 T

o’s theorem for the function f(x)=

=4x

3<x<4
Verify the Roll x* —x =12 when ~3<x <4
€ri

d s 7S e e
iy () Ly = e o T TR e

. . ly .

Find the integrating factor of the differential equation (1+ xZ):ix_ +y=e™ !

(d) @ @I @ 2T 9 WIS (Answer any one question): 2x1)
() d="5—j-3k aR b=i+3j-Sk TAMAS @ G+b @ G—b =g &y

Ifa=>5 —f —3k andb =1+ 3}' ~ 5k , then show that d+b and a —b are perpendicula

to each other.
(ii) 3o FFEEN x -AF, y ¥ dR z R A JAFE @, f,y @4 FE

0820 +c0s 23 +c0s 2y O N el Tl
A straight line makes angles &, 8,7 with x,y and z axes respectively. Then find the value

of cos2a +cos2f +cos2y

(e) ®} I @36 2Tq TGI WS (Answer any one question): 2x1=2
. 3 4 7 A
(i) P(A)==,P(B)=— & P(AUB)=— ¥ P| — fefa 3w
7 7 9 B
If P(A)= E,P(B) = i and P(AUB) = Z, find P é
7 7 9 B
(i) T X 9 Rtz A T &, Var(X) = 2.56 -, OF (7-4X) 97 WS A1 @
9 fAefa wwn
If X is a discrete random variable, Var(X) = 2.56, then find the standard deviation of (7
4X)
4x1=4

2. (a) @ @I @35 ATH9 BT WS (Answer any one question):

52
(i) o FE @, 2tan"(-r—xJ+sin“(i x2)=7r,x¢l
—-X + X

2
Prove that, 2tan™’ (1_+J£J+sin"(i x2 ]:7[, x#l

1-x +x
(i) Wee MY ML GB Z @99 e @I e R fAEwA IS
R={(x,y)eR:x,y,€eZ,(x—y) 93 W4 6 w7 fF=r@w} 1 @8 @, R 936 AATgene!
AR

lti R be a relation in the set of all integers Z defined by R ={(x,y):x,y,€ Z,(x—y) is
divisible by 6}, then show that R is an equivalence relation.



Uploaded by Siksha-Satra

(3)
(b) ABH el Fofaws Bea wie (Answer the following questions as directed): 42=8

(1) 4 * 4 a3 / 2 0 & AN IET A 2N (A4-31 00
1 —s 2 = — — —
a0 0 T @, (4-21)(A-3D=| |

4 2 1 0 0 0
If A= d= - -3 =
(-1 1]an (O l),showthat (A-2N)(A-3]) [0 0)

G (OR)
bR Redis +afeq emams Nwve Sorfeadel swaw s
i X+y—-2z=3,2x—y—z=T74R 3x+y—-z=17
[ Using Matrix inverse method, solve the system of equation
X+y-z=3,2x-y-z=T7and 3x+y—-z=7

X y z
(i) SRR, |x* )y 2= xyz(x = y)(y - 2)(z %)
x3 y3 23
] X y 2
' Prove that |x* y* 2zZ}|=xpz(x—y)(y—z)(z—x)
x3 y3 ...73
9T (OR)
x+a b c
WA IFE: | a x+b ¢ |=0
a b x+c
x+a b c

Solve: | a x+b c |=0

a b x+c
(c)Apa eefer o Sqaidl B8 W6 (Answer the following questions as directed): 4x3=12
B 42+3x dy 5
i =tan”' >+tan™ T NG @ == _
W=y 1+5x7 3-2x dr 1+25%°
If y=tan™' i = +tan”' 2+3x , then show that d_y___ > >
1+5x° 3=2x dce  1425x°
92T (OR)
y=3e 42" E MAS Ay, -5y, +6y=0
If y =3e™ +2¢’ then show that y, =5y, +6y =0
: (i) T fadfa z: j y ‘dx_l .
! (14 x"){a(tan™ x)" +b}
dx
(1+x*){a(tan™" x)* + b}
@3 (OR)

; Find the value of I
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|
: ‘ -~ rdx
= fadfy s j {lcgtlogx)* a x).}

1
Find the value of I{log(log) + log ) }dx

(i) TR BT 3¢t tan y dx+(1-¢")sec’ y dy =0
Solve: 3¢’ tany de+(1-¢')sec’ ydy=0

ugdq (OR)
n
AN AL xc—jy—=y+xtan!-; a8 y=— T8¢ x=1
dx x 2

Solve: x% =y+xtan'—z~; given y=—72£ when x =1

f

(d) @ @ @S efvety BeR Whe (Answer any one question): 4><l=4}‘
() A% WA G O b ONA @ [d|=1 @¥ |b|=2 9% |i+b|= 3 T

(5d -3b)- (2 +b) a2 A fafa Fwa ‘

@ and b arc two vectors such that [d|=1, |5|=2 and |&+5l=\/3— find the value of

(54 -3b)-(2d +h). '

w94 (OR)
W G=2+5j-Tk. b=-3i+dj+k @ ¢=i-2j-3k ot ova co¥7 oz
(@xb)-(bx&) a7 I fRefn wwan
If G=2i+5j-Tk. b=-3{+4j+k and &=i-2j-3k , then find the value of

(@xb)-(bx¢).
(e) (8 Al 9FfD AT THT WIS (Answer any one question): 4x1=4

I ]
(i) fAfR® STy sfew (re Wi fefa s je“‘dx (m =53)

b
Find the value of I e™'dx (m= constant) from the definition of definite integral.

|49 (OR)

(i) A @3 3w lim

1 1 1
+ SRR Sl
""‘[\hn—l’ \/4]:—-23 n]

Evaluage : lim[ . = + l +...+l
| V2n-13 Jan-2? n

AP
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(f) @ T GEai ﬁmmm(mswﬂ

(i) €1 T @, 5% 477 qze 0.25% f3e

@ @ Ife7 WNWWW:’%' GFE I IS TARSIE @2 (T 7T,
Suppose that 5% of men and 02507 «
chosen at random. W 257 of w

hat is the probabil;
(ii) Fw—"ﬁ-; qna- A, B, 8 pro ablll

any one question): 4x1=4

omen are colour blind. A colour blind person is
ty of this person being male?

5 5 s 3= e 6%W@45W,2%?ﬂﬁeeﬁﬂmm1ﬁ3aﬁe
SR | WA S @3 i ey < ot ca 15 1 com 21 i P

Alaf (A o WW@,WAWWWW%@WI
Three urns A, B and C contains

6 red i i i
balls respectively. An urn is o and 4 white, 2 red and 6 white and 1 red and 5 white

osen at random and a ball is drawn. If the ball drawn is
found to be red, find the probability that the ball was drawn from the urn A.

3. (a) @ I 926 AT Tew e (Answer any one question): 5%x1=5

(i) Kellogg 9% & Tt PImat 21 o1 '@ B w1 @t o I 0 88 AW (2B © T
I 36 AW (R A 1 &S Remiam ghim g 80 & (el 8 40 AW @R @2 ofS
fetEmar siete g 100 A (2T 8 30 gm @Az AT WM @fe e ohw w5

BIt @2 AfS ST BIETd Wiw 4 Bl 27, ©TF Tge *FIRIAl SLAMC PO T GF6
R e [y T S gt @

Kellogg is a food, mixture of husk and rice. It contains at least 88 gm protein and 36 gm
iron per kg. It is known that per kg husk contains 80 gm protein and 40 gm iron whereas
per kg rice contains 180 gm protein and 30 gm iron. If the cost of husk and rice are
respectively Rs 5/kg and Rs 4/kg, then construct the minimum cost to produce such
mixture of food as a linear programming problem.

(i) Fva R ey TEbe et AR AN T
Z=60x+15y, (& 539 3,
Y FQICAD! 27,
x+y<50
3x+y<90
aR x>0,y20
Solve the following linear programming problem by graphical method.
Maximize: Z = 60x+15y
Subject to constraints

x+y<50

3x+y <90

and x>0,y20
(b) mmiﬁ; oraq T8 WIS (Answer any two questions): 5%2=10
(i) 2x*+3y? =5 TogLST (FH =pfE 3x+2y =7 NI 6o 77, O AMwqd fefn

AN
Find the equations of tangents to the ellipse 2x’ + 3}’2 =35 which are perpendicular to the
straight line 3x+2y="7-
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(6) '
Wﬂaﬁﬁﬁeimmeﬂaaﬁﬁﬁcmt TR x oy

(i) 9of5 FFE@IR 87
407 +30¢% +180f +240; T3 07 9t wraw o4 !

Ry a0, @A x=0-

e gACer o3 v A I _ _ {
A particle moving in a straight line describes a distance x cm from a fixed point on the Jipe

at time t sec.. where x=r —40134-30t2 +1807 +240 . When will its acceleration bei
minimum and find the minimum value of the acceleration. .

(iii) R ST SR x? = 4y SRS 99R x— 4y +2 = 0T A s T |

crawe fNfg @ ,v
Find the area bounded by the parbola x> =4y and the straight line x — 4y+2=0

6 . i
(iv)awiﬁmmwﬁmﬂsﬁﬂﬁmww; 21—165{@‘@ WWW&:@}

@ 5 A, ot fdfa e _
A circular ink-blot grows at the rate of 2cm?/s. Find the rate at which the radius is

increasing after 2% seconds.

(c) A I @36 ATIT TSF WS (Answer any one question): 5%1=5
x—4 y+1 2-z
2 3 5

() 3,2, 1) g @ sFeE @A AYSAE O FSOT @2

(S37 AN [efy s

Find the cartesian and vector equation of the straight line passing through the point (3,2,1)
x—4 y¥l_2-2
2 3 5
(i) (1,-1,2)8 (2,-2,2) Rt 8 6x—2y+2z=9 IATOTH C4F ¥ SAOGE AP
fefa =t
Find the equation of the plane passing through the points (1,—1,2) and (2,-2,2) and
which is perpendicular to the plane 6x—2y+2z=9.
4. B AT TEF FACS AJ | (All the questions are to be answered): 1x10=10
ey Toaefe w4 (A T TR #7400 2T (a, b, ¢ T d)

Choose the correct alternative (a, b, ¢ or d)

and parallel to the straight line

(i) A={2,4,6},B={1,3,5,9} A (A B GG 7% A2 I
(@)2" (b)2° () 2" (d) 2"
If A={2,4,6},B={1,3,5,9} then the total number of distinct relations be defined from A
to B will be
(@) 2" (b)2° (c)2" (d) 2"
(i) A o 3 oH 9w A2 =4 T (I +4) - T47w1
(@ A (b)I-A (c) I+A (d) 1
If A is square matrix and 4’ = 4 then (I+ AP =74 will be
(@ A (b)L-A (c) I+A (d) I
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(7
(i) 7 f(x)=e'(x),4(0) =1 @R $(0)=3 =z o= £'(0) @z W
(@ 4 (b) 0 (c)2 (d)3
If f(x)=¢€¢(x),4(0)=1 and $'(0) =3 then £'(0) will be
@ 4 () 0 (c)2 (d)3

(iv) I sec™ x =cosec™ y 7@ © cos™! l+ cos™ L3 GE O
x y

2 Sx T
@ 7 (b) — () = @)=
3 6 @ 2
If sec™ x =cos ec"y ; then the value of cos™ l +cos™ l will be
X y

27 Sw V.4
b) == > .
(@ 7 (b) 3 (c) p (d) >

(v) y=%+1mPﬁWw o9l 2 28 | P RS =

5 3 3 5
(a) (—laz) (b) (1,2) © [—Lz) (d) [LZ)

2
X . . . .
If the slope of the normal to the curve y = Y +1 at point P is 2, then point P is

D 3 3 2
(a) [-LZ) (b) (12) © (_I’Z) (d) (12)

wi) | X e T T
= 14X
(@1 ()a()2a (d)O
The value of j—xe—zdx is
I+x
(@1 ()a()2a (dO
(vii) %:ywﬁwqﬁavﬁsm

X

(2) 38 (b) A8 (c) @A (d) *RIgS

d
The differential equation i- P4 will represent a
x

(a) Circle (b) Parabola (c) Straight line (d) hyperbola
(vili) @ TRfTed ufb AT A i+ ] 8 30 + ]+ 2k O v
(8) V12 e (b) 33 ez () V24 afawT (d) V30 I
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(8
Two adjacent side of a parallelogram are denoted by the vectors [ + ] and 3/ + ] + 2k , then the
area of the parallelogram is y
(a) J12 sq. unit (b) \/_3_3— sq. unit (¢) V24 sq. unit (d) m sq. unit ]
(ix) x;3=’v;4= zgzwﬁamm

(@) x-9%F (b) y- % (¢) z-TF (d)x 8y T®
x—3=y+4=z~—2

2 0
(a) x-axis (b) y-axis (c) zaxis (d)both x-axis and y-axis

(x) % I HF TAFeTOIF FFIAN %aa&mﬂ@3@mww @ M A

is perpendicular to

(a) 6 (b) 8 (¢) 12 (d) 15

If the probability of success of a binomial distribution is 2 and the standard deviation is 3,

then the value of its mean is
(a) 6 (b) 8 (¢) 12 (d)15
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Pre-Degree Examination, 202%J

Statistics (Elective)
Time : 3 Hours Full Marks : 60

Questions are of value as indicated in the margin

Question No.1 and 2 are compulsory and answer any three from the rest.
1. Answer any twelve questions : 1x12=12
0] If P(A/ B) = a and P(B) = b, then express P(B— A)in terms of ‘a’ and ‘b’.

(i) If P(4/B)= %—,P(B) =% and P(A4) =%. Find the probability that atleast one of the

events A and B occurs.
(ili) X ~N (50, 5% state two points of inflection.

_XZ

(iv) ThepdfofXis f(x)= e 4 ;—oc< x <oc whatis V(X)?

1
N
(v) P (Rejecting Hy/H,) is called the probability of Type I error. (True or False)

(vi)  Sample is regarded as a subset of a) Data b) Set c) Distribution d) Population.
(vii) E (T)) =6, + 6, and E (T,) = 06,-6, where T, and T, are two statistics. Find an unbiased
estimator of ;.

(viii) What is the total number of sample points in the sample space formed by throwing three
six-faced dice simultaneously?

a)6”> b) 3% c)6x3 d) 6
(ix)  Increasing the sample size has the following effect upon the sampling error.
a) It increases the sampling error.
b) It reduces the sampling error.
¢) It has no effect on the sampling error.
d) All the above.

(x)  If T is an estimate then W will be called
a) S.E. of T.
b)S.D.of T
¢)MSE.of T..
d) Sample fluctuation of T.
(xi)  Obtain power of the test if — P(Type Il error) = 0.01
(xii) If B is a parameter and T an estimator such that E(T) = 60, then give an unbiased
estimator of 0.
(xiit) Define the bias of an estimator.
(xiv) Write down the formula of standared error of sample mean in SRSWOR.

(xv)  The p.m.f f(x) of a random variable x is zero except at the points x = 0, 1, 2; and f(0)=c,
f(1)= 2¢-3, f(2)= 4c-1,, determine the value of c.

P.T.O.
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2. Answer any six of the following questions : 2x6=12

(i)  What is a critical region related to testing of hypothesis?

(i) X~ B(IO,—LII) obtain mode of X.

(iii) A sample of size 2 has been drawn from a population of size 5. F ind the probability that a
particular unit of the population will be in the sample. (Sampling has been done through

SRSWR) .
(iv)  If a sample has been drawn from a binomial population having population parameter P,

What is the test statistic to test Ho : P = Po.

(v) If-X and Y are both negative random variables, nutually independent, E(XY) = 6 and
[E(X)| = 2, find E(Y).

(vi)  Define MVUE.

(vii) Given that for a standard normal variable T, P(0<T <0.8) = 0.288.

Find out P( |T| > 0.8).

k
(viii) IfZ~N(0,1) ®(k)=a, then find the value of P[ |Z| > k], where @(k) = [ $(2)az

3. (i) Each coefficient in the quadratic equation px* +gx+r=0 is determined by selecting
randomly integers from 1, 2, 3, 4, 5. Find the probability that the equation will have equal

roots.
(i) An integer X is selected at random from the first S0 natural numbers. Calculate
P (X +Z‘— -2 50)
X
(iii) State and prove Bayes’ theorem. 34+3+(2+4)

4. (i) Derive the p.m.f. of Binomial distribution.
(ii) If X ~P (1) then find E(X).
(iii) Show that poisson distribution is a particular case of Binomial distribution.

d
(iv) ForX~ B(Xﬁhow that p,,, = pq {nr,u,_] +ﬂ:‘ . Hence obtain L, and ps.
dp
By
/ 242+ 3+(3+2)

5. () Examine wheather f(x)= e —ac<x <o isap.df.

(i)  For two mutually independent random variables x and y, if P(x =i) = p; i = 1, 2,...kand

P(y = j)= ;) =1,2,...1, then show that E(XY)= @i).

(iii)  Two balls are drawn at random without replacement from a bag containing 5 white and 3
black balls. If X denotes the number of white balls drawn, write down the probability
distribution of X and find Var(X). 4+4+4
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(3)

6. (i) Let P be the probability that a coin will fall head in a single toss. In order to test
Ho:P= 5 against H, : P =%. The coin is tossed 5 times and Ho is rejected if more
than 3 heads are obtained. Find the probability of Type-I error and power of the Tf:st.

(i) Show that sample variance is not an unbiased estimator of population variance in case of
SRSWR

(iii) Write down any three advantages of sample survey over complete enumeration.

(iv) What do you mean by simple and composite hypothesis of a test? 3+3+3+(1.5+1.5)

7. Write short notes on any three : 3x4=12

(1) Probability density function

(il)  SRSWOR

(iii)  Relation between two types of errors in testing of hypothesis.
(iv)  Biases in sample survey.

(v)  Standard Normal Distribution.
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Pre-Degree Examination, 2025

Japanese (Elective)
Full Marks: 80

Time: 3 Hours
Questions are of the value as indicated in the margin.

BEI TOUOLRRZEFIZEZXEZIRIV, 1x7=7
91 AR N = FEN J&E ITE4 HE=E
X7

FE IL. TOEFZOLBRICEZ LIV,
L&3ED  BoHA LESLy B SAES SLRA AL S

R IIL. TOEZFEOZ LIZZ I FZ I FITEXREI N, 1x6=6

Sports  Text Golf Malaysia Monorail
RIEE V. CABELABE [ ] RhLBE. XEERLAS
W MELRLBEZEZILIV, 1x6=6
hie, 59, KD, T5,. BD, #hRT 3

Signature

FMIBARFENS

X5 B TRBRTHRREIN] LEVWET
KETHERGE 2% Y TY,

T EXH_ L, FEKL LFET,
Rixb Lz, FRE_ ERBVWET,
ZiE~___ »b, =7y 7b¥E L,

I N

MIEV. FTOXHEEZE ST, XEEY XN, 2x7=14
~TIERWTIEHEA ~RFhiER v ERA ~T=®IT ~p &N

~TVEYT ~FZIE ~fn
P.T.O.
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RIREVE, F oS08 % BEA T (O AR BB A AR SV, £ LT, EOXE

% JiE ICEARL 22 &V,

6+6=12

2Ry bk . VR, {Hur THIENTEEYT, £LT. AM

1T 72 b, T IENTEEY, ImL il LI EIAEN BFW
R, bL, AR kot AoTui»sis

EIHRETY, KW
S, HELRNWTTN, aRy MIAS T ET, 1FE0 AT P
UNLl2ES ANELAD, vy FOF AhbihvET, HEod

b, S EDT, fElguEar RHZEpTEFET,

MEVIL TOT—<hb—22bAT, EXEBEXREV, 8
FLOD L B DO4ENE

BB VI FTOT7T—<hb—2XbAT, THRAZERXRI, 8
ERORBIZOVTER S MIFMETX R XV,
AXRGBORAE I IIZOWVWTEIBICFMR AP BE L&V,

M IX. TOT—<nbZ2BA T, AARETHHA LRIV, 2x3=6
T idze ) (4L | 7538 f%%

1xX6=6

I X, FOZL 2R LIg &y,

7 . Mr.John can drive the car.

A . I gave a Japanese picture post card to my teacher.

7. How long does it take by express train from Tokyo to Kyoto?
., Last night I could not sleep more than three hours.

7. Do you think that, Mr. Takahashi will go for fishing?

7. I want a Japanese Computer.
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Painting (Elective)
Time : 2 Hours Full Marks : 32

Questions arc of value as indicated in the margin
1. Answer any four of the following : (4 (311 5126 otz Tax e :

{a) Who is the artist of Kala Bhavana student’s Hostel ceiling mural? 2
TSR WA e @ wafgs il @@ ffie aten

(b) Namc the artist of Haripura Poster? 2
zfasja ¢ W ferdia i

(c) Who is the artist of “Medicval Saint™ mural in Hindi Bhavan? 2

2 st e’ et @ fadia s
(d) Name the artist of the ‘Harveser™ sculpture? What is the medium of this sculpture?
1+1
q AT SrFEdA M @2 afd @\ Mg T2

(¢) Where is the ullpture “Seyata™ by Ramkinker is located in Santiniketan? 2
IfFEn wt fAfifs <Erer st nfefieed amE @er wafEgs?

(f) During rule of which Mughal emperor do we find the maximum painting of birds and
animals? 2
@ e FYB TSI HACH WA TG @ AR ¢ #1w7 foar (rars =4iR?

2. Answer any two of the following : 7 (31! o e Tew e ¢ ‘

(a) Where is the location of Ajanta caves? How many causes are in there Ajanta? State
the composition features of the paintings and the subject seen. 2+2+6=10
woel o7 (IR GRES? TG qwer o Ty 32 wwel oy Hrw ey ¢ o @iy
(Gl

(b) Name the artist of ‘Santhal paribar” sculpture. Elaborate its compositions features.

State the methods used to build the sculpture. 2+4+4=10
Sewm @R ol IW FA? 9 W P TR Qe d9 o} erEh

ARSTS (oA TWR?

(c) Name artists of fresco paintings from Cheena Bhavana. Discuss the subject and
composition of any one of the fresco paintings. 2+4+4=10

B sata (v aprwief ondt T, Gief (R PRI FA? T MY @ @1 93D @FTHR IHA
faq @ famm oo amesa 9

(d) Where is the ‘Halakarshan’ festival celebrated and why is if celebrated? Name the

artist of “Halakarshan" mural. Describe the subject of the “Halakarshan” mural.

2+2+6=10

ZEA Tea @ ofre T @R @? TR Rl e il T 9 R
Fo TS 39

P.T.O.
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3. Write short note (any one) :
ot @ (@ @F «3fo) :

(i) Landscapes of Rabindranath Tagore. 4
FAEAIY SPEI W AN 7
(i1) Natir Puja, China Bhavana. 4
wor e, BireT
4

(iii) ‘Buddha inKapilavastu’, from Ajanta.
FAECS JF', TGS (AT |
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Hindi (Core)

Time : 3 Hours Full Marks : 80

Questions are of value as indicated in the margin
Qs - 'F’

w) FreafoRas wat & s fafau ' 1x33=33
"TRTHCT I158 T T3 37N e 71s8 e hifg
. HUR VST W T N A wreg 3rert g

‘T 9T B Teh 47 3762 FHISYY

‘RS T & T B Ueh 74T I16€ 1R

G 39T o ANT § T T I3 I

T’ T o ANT Y Teh TAT 318 131
AR ITog & shI-ET Jue 22

“Srferafer wree 7 et weg 31t 3w svent Hif)

TS ITeg W R T 27
. ‘UGS’ VoS | T W63 TN e STl 1Y
. TferR’ ¥ee  shi-6T YT 27

. TCTEY HHTE T T IR0 115
R TG 98§ -8 q9T 22
TA-HT” WTHTIGE U8 H HI-ET GHTY 22
15. “diam= g0 9g 1 faug i 3 a9me o1 719 JarRy)

16. FHTT GHTY T ISTEL0T 21
17. “amfey s ot o a7ef 22

18. 9T I 1 Iq@ U1 ST STHIART 1 ASHT AT, JThT 719 13|
19. 31 gegeiiet % forgm 1 a)m A1 o2

20. formE & & &1 9

21. foram Ares: 4 forg g i wfrosfora fomam mam &2

22. AT 1 ToT-HET foFereht aeram it 82

23. =fel greT o e 3 hfer 3

24, “TEET o TEATEhTT <hl &7 ATH 22

25, TeTHY Ferefiarer St 3 7% 1 w1 A o2

26. §L & FHA-AT B 2

VPN s W

P— et
N o~ O

J

r—
o

._.
P

P.T.O.
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27. “a&-fIrar vree s 31 22
28. “gaA-gfer # fopw 1R i dret srfierh g3 2 2
29. ‘g FATT k-1, G § St @l
-t e Sueht Fertf~aat A fiermm — dfth & TR 3T &1 31 91 STy
30. RH-F 318 T T 37 27
31. € Hidr & TR I AW fafay)
32. 3V Fg HYHF 0 GHI - oIl o A@eh o &7 A 87
33. ‘foeme fora faan fr w22
gus - @
@) FrateaRas want o s fafa 2x13=26
|, 37T W YeeR TS HeTa o1 31l forgert arerr 7 T hifeg)
2. 3T 1 AT HETal i 37 forgent sy # i shifs)
3. Fam A ofeRr WeTer it avef feraeRt AT # i Hifsy
4, TR T GHR ST HETR o1 37 forgert ey o wanT ity
5. “378Y H M1 TS Arehifch 1 37 ferad g ame | s it
6. Toema 3 sseiaT 1 Fa Hey 77
7. <STUIA TRY Serehd ST ArehiTeh a1 37 forad 3¢ e § waii ifsg
8. “3TEUT IR HYHY X AN
SR UEd .. ... ! foretar e wem- ek e <t gfid i
9. ‘31 & Ufg TIg WAH|’ — T&1 #i, fored 37 ar wefar s T 2
10. THAEHAE’ % TEHTHR HH 87
1. “qer-gferehn H gfereht ol o1 319 82 A&l o hl i 3 SR ASTT 27
12. " shferar e oft = ferreh Sfie = @t 1 stfireas forar 22
13. SrieRt sreTe St 1T Tfere fohell Ooh ehfertt sht A1 srTs it wraageass o denfora 21
14, 3794 feranTer 3 YT 3 19 6 7% H 2 T 3T1aed o fafa 2x3=6
%) I I T yU9 9 fafay
) 3% 93 1 7eg 9T fafay
) I 9 1 99 917 ferflan)
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@ug - T
m FreaferRaa weit & & ot e wait & v i 3x5=15
AT FETI 6T T IR 7 7
. AR BReR 1w aiter difig
. e e @ wen e § sy
I =T e O, =6 qeht |5 rE)
FR-AR e v w6 3 Ak
- 39 U< T W e R
5. *3TEVT A& HYWA I FHRT e 1 wrer w8y # farfay
6. “E8 SITd &
Icdfte <Y shigT war frrteper 1,
& GRET e BT s
- J9H Hiehal i AT SmE iR
7. U W 3 FE gE@ |
N 3fg e it g, TR SETe T T - IR dithe i wwET s it

3 L O
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Pre-Degree Examination, 2025
Physical Education (Vocational)

Time : 2 Hours Full Marks: 32

Questions are of value as indicated in the margin

Question No.1 is compulsory and Answer any three from the rest.

172 &% QR e IF @ @I foafd ards e aie

1.Answer any eight questions : 1x8=8
60 ATNE Ted Wls
a) How many players can participate during volley ball match from a team?
SfETRE (I (4 BEAIRIAN @6 DIt WS TS T (TG WKz FA?
b) How many ‘runners’ in a batch enter the field at a time in ‘Kho-Kho’ match?
CAI-CAT (AR GG TG F© T SRS ACF?
¢) ‘Bounce Pass’ related to which game?
O AN (I (I AT TS?
d) What is the first step of ‘Astanga Yoga’?
B @I A i F?
e) Write a benefit of Halasana?
TR 93f5 SAFIRI! T |
f) The term ‘offside’ is associated with which game?
GEAIZT (A L A IS?
g) What is the width of a lane in standard athletic track?
3B elfire WrEby FIFt 93 G 43 792
h) What is the diameter of a ‘Shot-Put’ Circle?
*G-+A15’ Jred JPT F'©?
2. What do you mean by Physical Education? What is the aim of Physical Education? List
down the objectives of Physical Education. 2+3+3=8

1A B Ters I @R AW FrEE T 2 1A R Srene spae v

3. What do you mean by health? Discuss about the care of Eyes and Teeth? 2+3+3=8
[ IS F @R? (BIIA 8 Wired qg PO (FF D= Fe |

4. What is communicable diseases? Write about two communicable diseases? 2+3+3=8
LN Y I IE? Yo FAHE i 7=oE e

P.T.O.




5.
a)

b)

2 Uploaded by Siksha-Satra
(

Write short notes (any two) DIl @Al (@ @A ¥fB) 4+4
Bad effects of smoking on sports person.

(TGS T2 YN F-2O] |

Astanga Yoga.
B el

Benefits of Asanas.

AT SoFIfae!
What is First-Aid? Discuss the duties of First Aider?

21Afie fofeesT F7 arfie afeRymeaa Foaef Qe F@t

Who is the father of modern Olympic games? What is the full form of JOC? List down
three differences between ancient and modern Olympic games. 1+1+6=8

iy Ao Te @2 10C -7 7S 36 F? 2ivh ¢ wigfae wiefiee fof
ANLFT T |

2+6=8
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Pre-Degree Examination, 2025

Sanskrit (Elective)
Time : 3 Hours Full Marks: 80
Questions are of value as indicated in the margin
1 FAEfFiRe @ @me it st e sgEm - =]
F)  ARHWR Ud &d| 3rga- faxifsanfiy | awr SR 9d &g
Y ARG - T IAHR! UY TarHiveaw | T 9afy eargafiya-d gier Siwdr
RS AR |
) Oq TarSawiE T HeTRE: UEdl 39 SR d aRiiedirsid|
) RS @ @me @3S w A wEm e - 3
3F) T YU AATUSRE:

IS FUS TUTSTERRY: ||
A) 1 Urear Tfa afar ¢geR: Hafo ga|
SHYIHTAHG YIgHE AegH AT TpeaH | |
o1 [sffRe @ @ime v1Rfb s Sew @l - dx8=8
J)  ifEET Il - THITEa or HEHWRH|
q)  IFRI R ANER AW @0l - YR or AGR: |
§)  erpfo-eren T S - IUTS or GaXl|
¥) R Refe fda s - gredrdi (3/2) or SURH (/7)1
¥) IeFS dfexs @0dl - $IR: or HARUM|
81 Be 8 & BrEeede fArea o Iyt et (9<f) - e
%) Tfc AT AGUN T=<HT 34|
Ay 7 IS AT GIRRE |
(B : 5 &% ; 5 A : ©)
Y THREE B Te-@UHIY N dh g |
FEIfSr: aHyYSE Ud foafiare sarsaaw ||
(B ;> &% : 5 [ : ©)

P.T.0.
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¢ @ @e s Ara Teq we - Y
3) I TERI-FU - IR @ g e RS T 92 ey
e (@7 T (@ farE? FIEADTS S Frod I (T TS ARt

©f fqtera orEE @l @+.@ +5+8=Y
Q) TR AR T B L @A i e < e W e
INE ERIT TEE? JATH-CI&T ~opee fefress e YU @
PfeT TSR Brw e T Of I FCA QR GR VI AL A T
ﬁawmmﬁ?wfiﬁ,mmﬁmmmm @+Q +@=Y

b1 @ @S g6 ATF TeF wie - Y
F)  TCCGUUA - A @I FAg (A e TAR? A T @AM @
5T CeITS! W FTATEEE? S SR beTee Afad I e

@+.@+.@+8.6=Y
Q) 3o HEUTH 9 YEUT TaTHERATH gUT T -
stﬁmmcmmemm?ww?wmmmmﬁ
i FCarRA? 5+.G+.@+8=Y
q 1 HFS SR IR GRARA FAPITS @ e Al dvdw Tew ws - @=¢
I) FIEmE I @ =
q)  Traed QAR AW [?
) AW IE A B W AGER IR GCINRCE?
q) e 3feerEd Il @ FERE?

¥  TEIGTauEE - e Sfake WA e ad f?
5) AGIEA (I JOFA O HAYAT ICARCAN?
g) S0 @ fReEe?

b1 et et (9fP) - Q=2
Y - o @3, GEG - AT =0,
TGy - et fawew, e (W) - elemra ag76m|

1 qgse et () - -
VIR + TE - TGRS T, VST + T - Ao @,
Vil R - s e, v+ e - oo fee
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R}

wmspwmwhmm(«m- )20
®) T dhanm. «) wqaan) afvafieol 3 ) R s |
»na'ﬁcmmqﬁssﬁ«ﬁmm- 3:32Q

) FT TFR: A1 %) 0. g @t v | ) H T o |
9) ﬁmiﬁmqﬁml

S PRI Y AN AR v (oY) - @=3=0

Yranar, mﬂ'ﬂﬁqmq eIy
0| AITU &I I (D) - 9=9

¥) ufdd IRafd ) o dvan «) Jgn TR v @ G gvah
38 1 AN faefy ITM (% IS B weryioN) - ]
A0 8 AN, 9 e Irarad: |
3¢ epfd-crom fRdy swn (D) - 0=
TSq, U, ydtden, gwaq, ural
31 fgers we crer (9fS) - =R
VIA+ WY, VP + 31T, U-VaMq+ Y , Ve +for |
391 MFS S SRACTAY TG (GIP) - ¢
F) T Sy wiefl Wi
v)  @ifddw 9§ Siafdl
o) e fg Ao TR weE Ry
Mo ! MY AW A (A @RS D) - 3.6%2=9
¥ ofeildg SR T T w: 9. ufdwfa 1 ¥ sfyanfamamg
HTEH: HERAM FUEI T i
W) g agany - R0 ¢ AT @i AIE: | R @ A wiIdes, SRq S
afersafd
)  faet e qun Shaaw) faeredie e shasgeau oifiad | awrq 39
¥ Furde srenfiy: R sdam)
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v afad we Bad TR AN wuE o deAd:| AWRg-SUS-AE arad
T fasfdl
5 1 FCFTS FATIM Tt (7fF) - 3%=8
F) O IRMCT A e AG (A (@ @)

) el ABCS FIbTe APICR| [JJ-FNH]

) G NS 9T [« Ao I FACO! |
¥) frefb we I 39 feenn saz| (@WfFe o9 a6 9w Fe TEG1)

®) I AR I AT G0 FAA FAEH |
R0 @ @8 G35 4TI TaT Wi -
) IFMICR THew NMewry @mb? aft @ 2w abw? a3 Afcebe [T

q

A @ S+3+@
) AP FIOCF SIPOF TN TN (T |
M BITORCS WD oo vy WD S|
1| Bt @Rt (9f) - ©
) WP d-FaARGH, Q) UFId=aH, o) Yah:, 7) HR: |
»x8=8

R @ @18 5 A TeR Wi -
F) T A e et AN @t @+.@=)

q)  «FOR-ANS Qe “WEba a Fe

M) g AfRCey Al s The @IG?

¥) SRR @ R W

8) TIQIANE IECS PIE QRT?

5) Y HUTIHYT “I5ba et @7

R) N (P QA T foia?

@) ﬁmﬂas@mmmm@mw@quwm?
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Rabindra Sangit (Elective)

Time : 2 Hours Full Marks : 32

Questions are of value as indicated in the margin

y7e ofS S | aRiele (@ I foAfb etew Ted wie 8Xbr=03

SIS O @ @I @3 RS B AR TR e Fa brxd=br
1 e @ @ gt siEa @R wjdefaa e 8+8 =br

(AT, FOFT!, FIO[E, IR
o | TRNiaE R mfon @ @i oRG fFERE @1 8x3=br
81 FIOT (Il b Wil 7fS e A @14, @32 ©F gfod ey 8 (AP (e |

Y =br

¢ 1 MfEfEes ¢ AfTer TP SR TPMetE TG @ @ GFH a6

fRezd wis Xd=br

v e @ @ g6 o IR S9REd wie (At SrRa TREAI) 8+8 =br
T, GTer, (qorE, FREIToH)
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Spinning & Weaving (Vocational)
Time : 2 Hours Full Marks : 32

Questions are of value as indicated in the margin

31 F-aF I TeF wie (@ @i fi5f) 1x5=5

(¥) ofe 77 A = (Loom) FIE 1?2

(}) Graph Paper A1 B¢ F19G 79 ity IJI2E FEd 52

(1) ©f© ICF A=l (ST A Lifting FICE 0?2

(7) T79 <1 BT 8 (T IS ICE?

(8) ¥ @ 6 @ @A v&?

(°) Frame Loom € Pit Loom -a7 Nt&j <<y &2

(®) =GN+t 9 (Back Strap Loom) (& ©lifA®d Fcaw?

&) @ oo FA AT s I g e et il (eEe/fdn B
RIEGII)!

R FALHA TEF W8 (@ & AofD) : 3x5=15

(F) ofc F7 291 ¢ fF 7

(}) F64 (Cotton) *ITHa TG (I (A2

(%) ™4 (Reed) F1CF =1 G2 @F 2T 572

() fFTs 67

(e) iz (Spinning) I T2

(5) C&%F 1% (Plain Cloth) @3 {3 (Twill Cloth) F1*Te Tt A<z 57
(R) o9 1T FF 2

01 @ 1 726 driw Ted wie 6%2=12

(%) T ol FIE WA? EABC {34 (Pointed Twill) TH9E = el @ 3ot ot are
171X (Graph Paper)-9 tF MG |
(4) 229 524 (Plain Twill)-99 931 Gt 72 99 -
T oM -1, 2,3, 4
A o - (1,2), (2,3), (3,4), (1,4)
Jrord .-
BT - 2f6 T
¢S - 2f6 W
(") 2T (Hobby Loom) Rfem T@ierta 1t @ I ST 31
(}) 191 9w e fda a1 =7 B oFe w90 Mg w59 G ATAG?
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Economics (Elective)

Time : 3 Hours Full Marks : 80

Questions are of value as indicated in the margin

1. Put the correct answer in the blank space : 1x10=10
AR AT Teafs e -
(a) When TR is maximum, MRis ___ (>TR/<TR/=0).
TR S AMR =@ (>TR/<TR/=0)|
(b) Demand curve of a firm is equivalentto _ (MC/AR/AC).
PN T o @t e @A @31 (MC / AR/ AC)
(c) In monopoly market priceis ____ that in perfect competition (higher than /equal to
/ lower than).
GO e W S AfSrafret e AeEE @ (@A / AW/ F)
(d) Rate of interest is the reward of _ (savings / capital / income).
TR PT _ GF O (T / AL /A
(e) Variable costs include _ (Rent of workshop / electricity bill / wage of permanent
labour) in the short run.
THIIE SN IW @ (TR ool / Rigrew w1 / R IR
Tgf)
(f) National income is estimated by adding values of ____ (intermediate products / final
products / raw materials).
GO W SR T T T @ TR (VIS &Y / 7 Ay w7y /
PI5T TT) |
(g) Inflation is defined as the state of _ in price level (decline / increase /
constancy).
refe T ameEd (371 / e / AfR[eadTen)
(h) Goods and services tax is an example of _ (indirect tax / direct tax / non-tax
revenue).
T CAMIN T T a7 TAidd (IErF 99 / A9rF 99 / 999 @IOHG) |
(1) In case of inflation, the lender _____ (gets benefitted / not affected / incurs loss).

TArHIS T, Mg [ (AR | dORYE / Feq3)
() Trade union is formed with the objective to increase of labourers (Welfare /
dissatisfaction / utilities).

A 2T Ao T4 20 i s Srweey (I / wrgf® /Seiaifret)

P.T.O.
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2)
2. Answer any fifteen questions : 2x15=30

@ @F el deda Teq we
(a) Draw an average fixed cost curve and explain its shape.
TG e I @4t @ew 39 a3 @fd7 @gfs anan a4

(b) Show average revenue and marginal revenue carves under perfect competition.
o efStafien waia e @fHS aae difgs @Efefs @ i mans |
(c) Mention two measures of controlling inflation.

Tarfs fAraes 3 % Sme o4,
(d) What is normal profit?

TR At 7
(e) Define monopoly power in brief.
FCHA GG TS e 716 |
() What is velocity of circulation of money?
e &b @ P A2
(g) Mention two functions of trade union.
A Frag 3 1w S 9
(h) What is the relation between rate of interest and bond price?
I AT 8 ST WIS W T 52
(1) Mention two functions of money.
ol it e B 79
() Differentiate between money wage and real wage.
e TR o e TR A T
(k) Mention two functions of a central bank.
FAR FEF 730 IS @ I
(I) What is demand pull inflation?
SRR wfe e
(m)What is “transfer income™?
“TBBI qIF” IS ICA?
(n) What is free trade?
w91y ey e & Q@

(0) Mention two functions of commercial banks.
fefers e 732 o1 S w9

p) What is the difference between Regressive and Progression taxation?

el @ anfeflar e sty e Ry
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(q) Give two examples of non-tax revenue.
wod @fefTe-ag v3o Twizdd wis

(r) Mention two differences between private finance and public finance.
eoe ST @ ABY AT TG 7o A T

_ Answer any eight questions : (3 (G @I T Teg me: 5x8=40

(a) Explain diagramatically, the relationship between average revenue and marginal
revenue of a firm under monopoly.

awﬁmmmmﬂ@_@%ﬁ%m&mm@%ﬁimwmmﬁﬁm

AR JI TR
(b) Draw a diagram of short run equilibrium of a firm under perfect competition and
explain it.
sj¢f afsrafrer SR 93T Tl TEIAA SRR oa G 93 JIY *H 1
(¢) Explain the modern theory of rent in brief.
e Wy ©g FCE I FH
(d) Explain the role of mild inflation in respect of economic development.

ERicicEACERc itk CERC R ISR I

(¢) Explain any one method of measuring national income in brief.
TSI WY AR @ @ G310 TS FCw Y T4

(f) Explain diagrammatically, the “Shut-Down Point™.
AW 0 [T <eCe & @I, 2R i 79

(g) Describe the Liquidity Preference theory.
FoW ARTd ©gio I I

(h) Explain credit creation process by commercial banks.
TR TEa A4 B AS Jro A

(i) Elucidate the Theory of Absolute Advantage by Adam Smith, in international trade.
araEifes Ay Spen IR AT T7 ogih T T

() Do you think that protection is necessary for economic growth of a country? Explain
briefly. :

S 5 T 99 (T IO AT e T el AwEa? A g
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Bengali (Core)
Time : 3 Hours Full Marks : 80

Questions are of value as indicated in the margin

3 1 A G0 v Teh e ; Soxd=do

(F) ‘9% MR IV [G@G [are I fTamed T 898 TS@Ed 87 Swe fRea—
Tt F1F @, @1 NET qBsfo? (S baa Fo4F €3 T@< I FAACZ? SIF FNF AW B
fe1? oid ot izs TREE 199 [eEd F@h (3+3)+3+>+Y=d0

(}) ‘9% v 23092 OIYF (AR — (P NG, I TEF a2 I ZRCR? (I e (AT
ST (4 SEEA? (S STt ST 3 oRTE? (12 AN I A O AMFIR TW? (RCADGI AR

HATATOIR TCE O LAl IS BT (3+5)+>++5+8=30

() ‘NeIER 231 936 FrHRES S I AR TFanR 1 — il @ A wwsfe?
SRIMA A IS FIId LA @RI R? ArweEs B «favy wie 1 aewese |

& JrRES0d ofS AR (FICRl IroN IS A%, O 155 AT ATHCS @Al

' +3+3+@=30

Q1 7 TR I I I : (AT 93(0) Uxd=Y

(F) (IR G A 71 TN G (TR (ST AATOIN A 23, SR CSINF TGSy JA 1’
(/) e S fgee Fa 6@ W o a[ee s

0 | AT 936 2vid Ted s Soxd=d0

(3) It o O, I 90’ T2 I I AV — (S A, (@ FROQ A2 To1 FIYACFT

N F? IR FF I IEARA? I PO IV SCACKA O A FEST TAE G0

(3+3)+d+3+b=30

(/) ‘SHTS @gE TC WA — IS (F? TG I INR F| NS ST ARA? T @ G I3

FAGHE 21T TW OIF TN @0 | TG T SRR Ol I+ wia | 3+(5+3)+3+4=30

(1) offREr IR T @20, (@ IGeE aufe? s @ Iga vofien be? @rew’

¢ foor =mby @ @l IRl v MEw @ 19K SRAnien A €@ e, G

(OTNIF SIF (T (5+3)+>+(d+d)+&=d0

81 7% TE7d I I I : (XA 931B) )
(¥) MU "o o faracz / Sggers v

(/) W= o= Ay QTR A v

@1 - G0 2TF Teg e : 0x3=30
() TR AT AN SRS (F? OFF AN If6 e o7 Tesfr am @i @2
NI TAATSR FIRTIZ A A | 5+.¢+9,€+€=30

FFoPIa G2
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(2)

(V) TFFW TpTia wTad IR Sty T fefa e anar o wd 478 stdaforany oy
CTH AT LW FCS ¢ AN FIGF AR T ¢ A JAGAILN WGIHA G JAUIT Heyaq
& 3+D4(3+3) 430

() fws w3 (- ) @330
Aveaniaens, @oamm cevm, A RS (SEa A, A 96 o |

b 1 o T3 we (@ WD)
(@) favmefea sraferr aes @ 297
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() Good books are store-house of knowledge and wisdom. Any one who has the key can

enter these store-houses and help himself. What is the key? Simply the ability to read.
He who can read can store his mind with the great thoughts of great thinkers of the

world. The man who never opens a book has an empty mind.

(¥) Newspaper reading has become an essential part of our life. As we get up in the

morning, we wait eagerly for the daily paper. Twentieth century was an age of
newspapers. Through newspapers we gather information about ditferent countries of

the world.




